11480

Equipment:

INTERNATIONAL CV 3T PICKER [4260]

Work Location:

Rocky Mountain House Shop

Created by:

Randy Wearmouth

ms:

210

583 Hr:

Status:

Transferred

Serial Number: Business Unit:

Start Date:

Stop Date:

1HTKTSWM9LH681628

Trucks Heavy 7-24-2020 7-25-2020

EL11-10

| Description | Quantity La | abor Type | Rate | Total |
|---------------------------------------------------------------|-------------|------------------------------|--------------------|--------------------------|
| CLAYTON OLSON | | nop Mech Rky | \$50.00 | \$212.50 |
| H. KANIELA JOHNSON | | nop Weld Rky | \$49.00 | \$6,247.50 |
| KYLE DRANEY TYLER SCHWARZ | | nop Weld Rky nop Mech Rky | \$49.00 \$50.00 | \$9,077.25 \$2,525.00 |
| WALTER BOESCH | | nop Mech Rky | \$50.00 | \$200.00 |
| WESLEY BOLTON | 6.00 RT Sh | nop Weld Field | \$54.00 | \$324.00 |
| | | | Total Labor | \$18,586.25 |
| 1 " NPT CAP [AP30-16] | 1.00 Each | | \$5.29 | \$5.29 |
| 1.5" 90 DEGREE RAD HOSE [777] | 1.00 Each | | \$15.99 | \$15.99 |
| 1-1/4" FILTER HEAD [FH225] | 1.00 Each | | \$27.30 | \$27.30 |
| 12-24X3 SKT WAFER TAP [UCA TSW 123B] | 110.00 Each | | \$0.14 | \$15.40 |
| 14" LED LIGHTBAR [LW91305] | 4.00 Each | | \$60.23 | \$240.92 |
| 17" LOW PRO LED BAR LAMP [76943] | 2.00 Each | | \$440.00 | \$880.00 |
| 18" STEEL UNDERBODY TOOLBOX [1702300] | 1.00 Each | | \$294.80 | \$294.80 |
| 24" SHR.ANTI SAIL [AS2620C] | 3.00 Each | | \$8.96 | \$26.88 |
| 24" SHR.ANTI SAIL [AS2620C] | 2.00 Each | | \$8.96 | \$17.92 |
| 3/8 X 3 1/2 TARP HOOK [DYN 66423] | 2.00 Each | | \$1.07 | \$2.14 |
| 3PT SST HANDLE C/RODS [LGM 33-77704] | 2.00 Each | | \$46.97 | \$93.94 |
| 3RD PARTY VENDOR REPAIRS & LABOUR [7230] | 1.00 Each | | (\$89.12) | (\$89.12) |
| 4" CLOSED BACK GROMMET FOR 4" ROUND LIGHTS [91950 {xr 91740}] | 4.00 Each | | \$4.20 | \$16.80 |
| 4" LED BACK UP LIGHT [127-40607W] | 2.00 Each | | \$40.05 | \$80.10 |
| 4" ROUND RED TAIL LIGHT [127-40607R] | 2.00 Each | | \$26.29 | \$52.58 |
| 5 PIN RELAY PIGTAIL [84-1040] | 1.00 Each | | \$6.01 | \$6.01 |
| 6" CHROME GRAB HANDLE [9181] | 6.00 Each | | \$13.29 | \$79.74 |
| ADAP STREET ELBOW 45 DEGREES [3102-12-12] | 1.00 Each | | \$0.01 | \$0.01 |
| ADAP STREET ELBOW 45 DEGREES [3102-12-12] | 1.00 Each | | \$8.52 | \$8.52 |
| ADAPTER [2503-20-20] | 1.00 Each | | \$46.62 | \$46.62 |
| ADAPTER SAE STR THREAD 90DEG ELBOW [2503-12-10] | 1.00 Each | | \$12.36 | \$12.36 |
| ADAPTER SAE STR THREAD 90DEG ELBOW [2503-16-12] | 1.00 Each | | \$17.20 | \$17.20 |
| ADAPTER SAE STR THREAD 90DEG ELBOW [2503-16-16] | 1.00 Each | | \$25.03 | \$25.03 |
| BUYERS T HANDLE TALL FLUSH MOUNT, SWING LATCHING MECHANISM | 1.00 Each | | \$47.40 | \$47.40 |
| 8816] CONNECTOR - SINGLE WIRE [K333-67] | 6.00 Each | | \$19.25 | \$115.50 |
| CONNECTOR KIT [19328970] | 1.00 Each | | \$48.81 | \$48.81 |

| \$7.21 | \$3.60 | 2.00 Each | LIGHT - LICENSE PLATE [60001] |
|------------|---------------------|------------|------------------------------------------------------|
| \$437.50 | \$43.75 | 10.00 Each | LED STRIP LIGHTING 132" LONG 60 LED, 11' [SL60W] |
| \$12.32 | \$3.08 | 4.00 Each | LED 3 PRONG PLUG [126-9477] |
| \$32.76 | \$5.46 | 6.00 Each | LATCH [44-01102] |
| \$28.16 | \$14.08 | 2.00 Each | LAMP MARKER RED [33050R] |
| \$43.50 | \$21.75 | 2.00 Each | KIT-LAMP MARKER [33050Y] |
| \$9.57 | \$9.57 | 1.00 Each | JUNCTION TERMINAL BOX [82-1000] |
| \$9.99 | \$9.99 | 1.00 Each | JUNCTION TERMINAL BOX [82-1000] |
| \$12.32 | \$3.08 | 4.00 Each | JETCO PIGTAIL - WEATHERPROOF 3 PRONG PLUG [126-9477] |
| \$13.41 | \$13.41 | 1.00 Each | Hydraulic, Spin-On {HF6720} [P550387] |
| \$13.41 | \$13.41 | 1.00 Each | Hydraulic, Spin-On [P550387 {HF6720}] |
| \$13.41 | \$13.41 | 1.00 Each | Hydraulic, Spin-On [P550387 {HF6720}] |
| \$3.92 | \$3.92 | 1.00 Each | HOOD CATCH RUBBER FOR EMPTY AIR CONTROL BOX [WJ202] |
| \$4.24 | \$4.24 | 1.00 Each | HOOD CATCH RUBBER FOR EMPTY AIR CONTROL BOX [WJ202] |
| \$551.40 | \$551.40 | 1.00 Each | HEATER 12V [RD-R-295-0P] |
| \$2.94 | \$0.98 | 3.00 Each | GROTE PIGTAIL - SEALED MARKER LIGHT PIGTAIL [67050] |
| \$2.61 | \$0.87 | 3.00 Each | GROMMET [91400] |
| \$6.78 | \$3.39 | 2.00 Each | FUSE HOLDER [509621001] |
| \$15.83 | \$15.83 | 1.00 Each | FIRST AID KIT ALBERTA LEVEL1 (BAG) [F881N260] |
| \$8.72 | \$8.72 | 1.00 Each | FEMALE-FEMALE CONNECTOR [0202-12-12] |
| \$15.22 | \$15.22 | 1.00 Each | FEMALE SWV JIC 37 CRIMP [10643-10-12] |
| \$50.05 | \$50.05 | 1.00 Each | FEMALE SWV JIC (37) - CRIMP [10643-20-20] |
| \$53.24 | \$26.62 | 2.00 Each | FEMALE SWV JIC (37) - CRIMP [10643-16-16] |
| \$20.06 | \$20.06 | 1.00 Each | FEMALE SWV JIC (37) - CRIMP [10643-16-12] |
| \$13.52 | \$13.52 | 1.00 Each | FEMALE SWV JIC (37) - CRIMP [10643-12-12] |
| \$13.23 | \$13.23 | 1.00 Each | FEMALE SWV JIC (37) - CRIMP [10643-12-12] |
| \$7.14 | \$7.14 | 1.00 Each | FEMALE MALE FEMALE PIPE T [N5602-12-12] |
| \$29.38 | \$14.69 | 2.00 Each | FEMALE JIC 2 WIRE CRIMP [10643-10-10] |
| (\$29.38) | (\$14.69) | 2.00 Each | FEMALE JIC 2 WIRE CRIMP [10643-10-10] |
| (\$38.88) | (\$38.88) | 1.00 Each | FEM JIC 37DG SWIV 45 DG ELBOW [14143-12-12] |
| \$77.76 | \$38.88 | 2.00 Each | FEM JIC 37DG SWIV 45 DG ELBOW [14143-12-12] |
| \$0.00 | \$44 .16 | 0.00 Each | F JIC 37DG SWIV 90DG ELB [13943-16-16] |
| \$0.00 | \$45.60 | 0.00 Each | F JIC 37DG SWIV 90DG ELB [13943-16-16] |
| \$45.60 | \$45.60 | 1.00 Each | F JIC 37DG SWIV 90DG ELB [13943-16-16] |
| \$0.00 | \$26.76 | 0.00 Each | F JIC 37DG SWIV 90DG ELB [13943-12-12] |
| \$918.05 | \$918.05 | 1.00 Each | EXTERNAL CHARGE PUMP [057-TVPK1-13-02B] |
| \$18.00 | \$0.25 | 72.00 Each | DRIP RAILMOULDING/ALUM [8740039] |
| \$1,606.25 | \$1,606.25 | 1.00 Each | CUSTOM HYD TANK [Q20710HYD50] |

| | | Total Cost | \$37,860.67 |
|-----------------------------------------------------------------------------------------------------------------|--------------------------|--------------------|----------------------|
| | | Total Equip | \$0.00 |
| WIRE SPLICE [13578892] | TU.UU EBUI | Total Parts | \$19,274.42 |
| WIRE ASM-SPLIC [13575832] | 10.00 Each 10.00 Each | \$11.48 \$11.49 | \$114.80 \$114.90 |
| VENDOR PARTS CREDIT [CREDIT] | 1.00 Each | (\$918.05) | (\$918.05) |
| VALVE - BALL 1 1/4" NOT CERTIFIED [DBV31-G] | 2.00 Each | \$25.93 | \$51.86 |
| TOOLBOX BRACKET 18X18 [1701006] | 1.00 Each | \$89.75 | \$89.75 |
| TOOLBOX 18X18X36 [1702305] | 1.00 Each | \$403.94 | \$403.94 |
| TOGGLE SWITCH [55037] | 1.00 Each | \$5.32 | \$5.32 |
| TANK, WING 35 GAL C/W [A300010] | 1.00 Each | \$1,255.00 | \$1,255.00 |
| TANDEM PUMP [P17(52)+11(11)11TANDEM] | 1.00 Each | \$1,258.58 | \$1,258.58 |
| SWITCH - ON - OFF [5582] | 2.00 Each | \$7.92 | \$15.85 |
| STREET TEE ALLISON [378970] | 1.00 Each | \$88.50 | \$88.50 |
| SS BODY HINGE 4" L [LGM 11-09004] | 2.00 Each | \$7.43 | \$14.86 |
| SS BODY HINGE 4" L [LGM 11-09004] | 4.00 Each | \$7.26 | \$29.04 |
| SPACER- ROUND 7.2X50X8 ACE [E80-1012-008] | 2.00 Each | \$15.29 | \$30.58 |
| ELAY [CB12650] | 1.00 Each | \$8.95 | \$8.95 |
| REDUCER W/ LARGE NUT [0603-16-12] | 1.00 Each | \$13.14 | \$13.14 |
| PREDATOR HYDRAULIC AIR [H600002] | 1.00 Each | \$6,910.00 | \$6,910.00 |
| PR 300LB 18" DRAWER SLIDES [I-DS-3300-18] | 6.00 Each | \$120.47 | \$722.82 |
| POWER TAKEOFF ASSEMBLY CHELSEA [272GBHVP-B3RK] | 1.00 Each | \$2,325.17 | \$2,325.17 |
| PIN [13575412] | 4.00 Each | \$15.35 | \$61.40 |
| PIDHERNEY MUD FLAP - 24 X 30 [PB2430] | 4.00 Each | \$27.98 | \$111.93 |
| PARTS FREIGHT [7540] | 1.00 Each | \$136.99 | \$136.99 |
| ORB-MALE SAE JIC 37 ADAP MALE 37 DEG FLARE W ORING [0503-16-16] | 1.00 Each | \$7.75 | \$7.75 |
| ORB-MALE SAE JIC 37 ADAP MALE 37 DEG FLARE W ORING [0503-12-12] | 1.00 Each | \$5.08 | \$5.08 |
| MP-FP 90 1 1/4 [2102-20-20] | 2.00 Each | \$52.48 | \$104.96 |
| MNPT-MJIC 90 DEG ELBOW [2103-12-10] | 1.00 Each | \$7.83 | \$7.83 |
| MNPT-MALE JIC 37DEG STR [0103-20-16] | 1.00 Each | \$13.94 | \$13.94 |
| MNPT-MALE JIC 37DEG STR [0103-20-16] | 1.00 Each | \$15.90 | \$15.90 |
| MNPT-FNPT 90 DEG ELBOW [2102-12-12] | 1.00 Each | \$16.19 | \$16.19 |
| MNPT-FNPT 90 DEG ELBOW [2102-12-12] | 3.00 Each | \$15.65 | \$46.95 |
| NPT HH PLUG [01CP-12] | 1.00 Each | \$3.52 | \$3.52 |
| 127-63002}] MALE JIC (37) HEX PLUG [03CP-20] | 1.00 Each | \$14.40 | \$14.4 |
| REFLCTIVE [G1002 {xr TL10250R, G1032}] LIGHT JETCO - OVAL RED LED STOP, TURN & SIGNAL [127-60607R {xr G6002, | 2.00 Each | \$28.54 | \$57.08 |
| LIGHT GROTE - LED, RED 2.5" ROUND, MARKER CLEARANCE LIGHT, | 3.00 Each | \$6.04 | \$18.12 |

| Item ID | Description | Completed By | Reported Hours |
|---------|---------------|--------------|----------------|
| 19893 | LENGTHEN DECK | Kyle Draney | 29.50 |

| 9895 | MOUNT BEACON | Kyle Draney | 4.25 |
|--------------|-----------------------------------------------------------------|-----------------------|-------------------|
| 1514 | INSTALL CELL PHONE BOOSTER | Kyle Draney | 13.50 |
| | | .,,, | |
| 2510 | INSTALL WORK LIGHTS | Kyle Draney | 14.00 |
| 2582 | WIRE IN MARKER AND TAILLIGHTS | Kani Johnson | 7.50 |
| 2703 | CLEAN, PAINT AND MOUNT PICKER | Kani Johnson | 4.50 |
| 9776 | RIG UP TIRE TRUCK | Kani Johnson | 92.50 |
| 0099 | INSTALL PTO, INTEGRATE INTO CHASSIS CORRECTLY!!! CHECK BACK AND | Kani Johnson | 35.25 |
| 0101 | MOUNT AND WIRE IN RADIO, INTEGRATE INTO CORRECT CONNECTOR BY | Kani Johnson | 9.00 |
| 20102 | INSTALL GPS/ASSET TRACKER | Kani Johnson | 1.50 |
| 20370 | REMOVE DOORS AND HARDWARE / PREP FOR PAINT | Kani Johnson | 4.00 |
| 20390 | WIRE IN AIR COMPRESSOR | Kani Johnson | 29.00 |
| 20391 | PREP CHASSIS FOR DECK | Kani Johnson | 3.00 |
| 19894 | MOUNT AIR COMPRESSOR | Kani Johnson | 9.00 |
| 19897 | MOUNT AND INSTALL DRAWERS IN CABINET | Kani Johnson | 46.00 |
| 19898 | BUILD COMPARTMENT BETWEEN TOW CABINETS | Kani Johnson | 47.00 |
| 3008 | RUN AND MOUNT HYD LINES | Kani Johnson | 23.50 |
| 19778 | SOB - PTO AND ALLISON FITTING | Kani Johnson | 0.00 |
| 20100 | INSTALL DECALS | Kani Johnson | 2.00 |
| 19896 | MOUNT AIR TANK BETWEEN CABINETS | Kani Johnson | 2.50 |
| | | | |
| Work Order: | 11882 | Status: | Transferred |
| Equipment: | INTERNATIONAL CV 3T PICKER [4260] | Serial Number: | 1HTKTSWM9LH681628 |
| Work Locatio | n: | Business Unit: | Trucks Heavy |
| Created by: | Randy Wearmouth | Start Date: | |
| Kms: | 210 | Stop Date: | |

Quantity Labor Type

Rate

Total Labor

Total

\$0.00

Work Order Cost Summary

Description

| | | Total Cost | (\$199.25) |
|---------------------------|-----------|-------------|------------------------|
| | | Total Equip | \$0.00 |
| _ | | Total Parts | (\$199.25) |
| WIRE SPLICE [13578892] | 9.00 Each | (\$11.49) | (\$103.41) |
| WIRE ASM-SPLIC [13575832] | 3.00 Each | (\$11.48) | (\$34. 44) |
| PIN [13575412] | 4.00 Each | (\$15.35) | (\$61.40) |

| Item ID | Description | Completed By | Reported Hours |
|---------|---------------------------------|---------------|----------------|
| 20409 | 4260 - 06/24/2020 CREDIT RETURN | Nick Depratto | 0.00 |

12871

Equipment:

INTERNATIONAL CV 3T PICKER [4260]

Work Location:

Created by: Maintain Administrator

210 Kms: Hr: 583 Status:

Serial Number:

Business Unit:

Start Date: Stop Date:

Trucks Heavy

Transferred

1HTKTSWM9LH681628

| \$0.00 \$238.90 \$398.35 \$98.00 \$175.00 \$83.25 \$63.00 |
|-----------------------------------------------------------------------------|
| \$398.35 \$98.00 \$175.00 \$83.25 |
| \$98.00 \$175.00 \$83.25 |
| \$175.00 \$83.25 |
| \$83.25 |
| |
| \$63.00 |
| |
| \$33.87 |
| \$1,995.00 |
| \$141.50 |
| \$119.95 |
| \$189.00 |
| \$46.50 |
| \$55.25 |
| \$3.46 |
| \$7.00 |
| \$15.40 |
| \$6.32 |
| \$15.10 |
| \$136.76 |
| \$253.50 |
| |

| HEX PIPE NIPPLE (0101-0-12) HAB HYDRAULLIC CAP (3375851) Linge Bore Swivel Gauge(Custom) Linger Bore Swivel Gauge Gauge Linger Bore Swivel Gauge(Custom) Linger Bore Swivel Gauge Gauge Linger Bore Swivel Gauge Gauge Linger Bore Swivel Gau | Gouger[Custom] | 15.00 Each | \$1.00 | \$15.00 |
|-----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|---------------------------------------------------------------|-------------|---------------|-----------|
| HAB HYDRAULIC CAP (3379854) 1.00 Each \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 \$61.40 | HEX CAP LB RLVCA149 A-149[Custom] | 100.00 Each | \$0.98 | \$98.00 |
| Large Bore Swivel Gauge(Custom) 2.00 Each \$19.95 \$38 SLIGHT CROTE - 4" RED LED STOP TAIL TURN LIGHTS - SEALED CONNECTOR 1.00 Each \$15.76 \$15.00 Each \$15.70 \$15.70 \$15.70 \$15.70 \$15.70 \$15.70 \$15.70 \$15.70 \$15.70 \$15.70 \$15.70 \$15.70 \$15.70 \$15.70 \$15.70 \$15.70 \$15.70 \$15.70 \$15.70 \$15.70 \$15.70 \$15.70 \$15.70 \$15.70 \$15.70 \$15.70 \$15.70 \$15.70 \$15.70 \$15.70 \$15.70 \$15.70 \$ | HEX PIPE NIPPLE [0101-8-12] | 1.00 Each | \$3.44 | \$3.44 |
| LIGHT GROTE - 4" RED LED STOP TAIL TURN LIGHTS - SEALED CONNECTOR 1.00 Each \$15.76 \$15.76 \$15.75 \$1.75 \$1.00 Each \$15.76 \$1.00 Each \$6.88 \$1.57.56 \$1.00 Each \$6.88 \$1.00 Each \$6.88 \$1.00 Each \$1.00 | HIAB HYDRAULIC CAP [3375854] | 1.00 Each | \$61.40 | \$61.46 |
| SASS21 CLOCK SASS | Large Bore Swivel Gauge[Custom] | 2.00 Each | \$19.95 | \$39.90 |
| LIGHT GROTE - LED, RED 2,5" ROUND, MARKER CLEARANCE LIGHT, 200 Each \$5.88 \$5.88 \$5.88 \$5.88 \$5.88 \$5.88 \$5.88 \$5.88 \$5.88 \$5.88 \$5.88 \$5.90 \$1.00 Each \$1.99.49 \$1.90 \$1.00 Each \$1.99.49 \$1.90 \$1.00 Each \$1.99.49 \$1.90 \$1.00 Each \$1.99.49 \$1.90 \$1.00 Each \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 \$1.90 | | 1.00 Each | \$15.76 | \$15.76 |
| LONG BOX CARGON NET CAM STRAPS [SEDDIO1] 1.00 Each \$189.49 \$188 M12X1.75MM QUICK DRAIN [10-12175-01] 1.00 Each \$40.75 \$40 MALE HYDRAULIC COUPLER [F035-1002-06-06] 1.00 Each \$40.98 \$40 MALE JIC (37) HEX PLUG [03CP12] 2.00 Each \$6.69 \$12 MALE JIC (37) HEX PLUG [03CP12] 2.00 Each \$6.69 \$12 MALE JIC (37) HEX PLUG [03CP12] 2.00 Each \$6.00 Each \$0.70 \$4 MALE JIC (37) HEX PLUG [03CP6] 1.00 Each \$0.70 \$4 MALE JIC (37) HEX PLUG [03CP6] 1.00 Each \$0.00 Each | LIGHT GROTE - LED, RED 2.5" ROUND, MARKER CLEARANCE LIGHT, | 1.00 Each | \$6.88 | \$6.88 |
| MALE HYDRAULIC COUPLER (FD35-1002-06-06) 1.00 Each \$40.98 \$40.00 Each \$1.66 \$43.00 Each \$1.60 Each \$1.60 Each \$1.60 Each \$1.60 \$40.00 Each \$1.60 Each | | 1.00 Each | \$189.49 | \$189.49 |
| MALE JIC (37) HEX PLUG [03CP12] 2.00 Each \$1.68 \$1.68 \$1.68 \$1.68 \$1.68 \$1.68 \$1.68 \$1.68 \$1.68 \$1.69 \$1.69 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 \$1.60 | M12X1.75MM QUICK DRAIN [10-12175-01] | 1.00 Each | \$40.75 | \$40.75 |
| MALE JIC (37) HEX PLUG [03CP12] 2.00 Each \$6.19 \$12 MALE JIC (37) HEX PLUG [03CP6] 6.00 Each \$0.70 \$4 MALE JIC (37) HEX PLUG [03CP6] 10.00 Each \$0.70 \$4 MALE JIC (37) HEX PLUG [03CP6] 10.00 Each \$0.86 \$4 MALE JIC (37) HEX PLUG [03CP8] 8.00 Each \$0.86 \$4 MALE JIC (37) HEX PLUG [03CP8] 8.00 Each \$0.86 \$4 MALE JIC (37) HEX PLUG [03CP8] 8.00 Each \$0.86 \$4 M-M NPT NIPPLE [0101-12-16] 2.00 Each \$9.29 \$11 M-M NPT NIPPLE [0101-12-16] 3.00 Each \$9.29 \$11 MOTHERS -X REF 35316 [MOT35316] 1.00 Each \$8.51 \$4 MOTHERS -X REF 35316 [MOT35316] 1.00 Each \$8.51 \$4 OR325 O-RING[Custom] 48.00 Box \$4.50 \$4 Pail of grease(Custom] 3.00 Each \$5.91 \$197 Pail of grease(Custom] 2.00 Each \$5.91 \$197 PRE-BUFF AEROSOL ASCOT 16 OZ[Custom] 2.00 Each \$9.95 \$15 RADIAL 10X7-1/2" CT82[Custom] 5.00 Each \$9.95 \$15 RADIAL 10X7-1/2" CT82[Custom] 3.00 Each \$3.7.25 \$111 Stem Puller (Custom] 3.00 Each \$3.7.25 \$111 Stem Puller (Custom] 3.00 Each \$3.45 \$4 SWIVEL VALVE STEAM[Custom] 5.00 Each \$3.45 \$4 SWIVEL VALVE STEAM[Custom] 5.00 Each \$9.64 \$3.45 Valve Stem (Custom] 5.00 Each \$1.087 \$65 Valve Stem (Custom) 5.00 Each \$1.087 \$65 Valve Stem (Custom) 5.00 Each \$1.087 \$65 Valve Stem (Custom) 5.00 Each \$1.00 Each \$1.00 Each \$1.00 Each \$1.00 Each \$1.00 Ea | MALE HYDRAULIC COUPLER [FD35-1002-06-06] | 1.00 Each | \$40.98 | \$40.98 |
| MALE JIC (37) HEX PLUG [03CP6] 6.00 Each \$0.70 \$4 MALE JIC (37) HEX PLUG [03CP6] 10.00 Each \$0.70 \$7 MALE JIC (37) HEX PLUG [03CP8] 8.00 Each \$0.86 \$8 M-M NPT NIPPLE [0101-12-16] 2.00 Each \$9.29 \$18 M-M NPT NIPPLE [0101-6-6] 3.00 Each \$2.11 \$8 MOTHERS -X REF 35316 [MOT35316] 1.00 Each \$8.51 \$8 OR325 O-RING[Custom] 24.00 Each \$3.91 \$93 O-RING[Custom] 48.00 Box \$4.50 \$2.16 pail of grease(Oustom] 3.00 Each \$4.50 \$2.16 pail of grease(Oustom] 2.00 Each \$9.99 \$15 RADIAL 10X7-1/2" CT82[Custom] 5.00 Each \$9.99 \$15 RADIAL 10X7-1/2" CT82[Custom] 5.00 Each \$2.10 \$110 RADIAL 10X7-1/2" CT82[Custom] 5.00 Each \$3.91 \$135 retred cups(Custom] 3.00 Each \$3.7.25 \$111 Stem Puller(Custom) 5.00 Each \$3.45 \$6.90 SWIVEL VALVE STEAM[Custom] 5.00 Each \$9.69 \$135 SWIVEL VALVE STEAM[Custom] 5.00 Each \$9.69 \$135 SWIVEL VALVE STEAM[Custom] 5.00 Each \$9.69 \$135 Valve Stems [Custom] 5.00 Each \$9.64 \$3.45 Valve Stems [Custom] 5.00 Each \$9.64 \$3.45 WHEEL SPACER BETWEEN RIMS [AS903] 8.00 Each \$3.99 \$41 WHEEL SPACER BETWEEN RIMS [AS903] 8.00 Each \$3.99 \$41 Total Parts \$6,900 Total Parts \$6,900 | MALE JIC (37) HEX PLUG [03CP12] | 2.00 Each | \$1.68 | \$3.36 |
| MALE JIC (37) HEX PLUG [03CP6] 10.00 Each \$0.70 \$7 MALE JIC (37) HEX PLUG [03CP8] 8.00 Each \$0.86 \$8 M-M NPT NIPPLE [0101-12-16] 2.00 Each \$9.29 \$18 M-M NPT NIPPLE [0101-6-6] 3.00 Each \$2.11 \$8 MOTHERS -X REF 35316 [MOT35316] 1.00 Each \$8.51 \$8 OR325 O-RING[Custom] 24.00 Each \$3.91 \$93 O-RING[Custom] 48.00 Box \$44.50 \$22 Paint Stick (Custom] 2.00 Each \$14.95 \$25 PRE-BUFF AEROSOL ASCOT 16 OZ[Custom] 2.00 Each \$9.95 \$15 RADIAL 10X7-1/2" CT82[Custom] 5.00 Each \$9.95 \$15 RADIAL 10X7-1/2" CT82[Custom] 3.00 Each \$6.95 \$135 retred cups(Custom) 3.00 Each \$9.95 \$15 SWIVEL VALVE STEAM[Custom] 5.00 Each \$3.45 \$\$ SWIVEL VALVE STEAM[Custom] 5.00 Each \$9.69 \$135 SWIVEL VALVE STEAM[Custom] 5.00 Each \$9.69 \$15 SWIVEL VALVE STEAM[Custom] 5.00 Each \$9.64 \$3.45 \$\$ WISE OLD ONES FIRST, RATCHET TIEDOWN- MINI (1 X 16) [43887-10] 4.00 Each \$9.64 \$3.45 USE OLD ONES FIRST, RATCHET STRAP W/WIRE HOOK [45982-43] 6.00 Each \$9.64 \$3.45 Valve Stems[Custom] 5.00 Each \$9.64 \$3.95 Valve Stems[Custom] 5.00 Each \$9.69 \$1.00 Valve Stems[Custom] 5.00 Each \$9. | MALE JIC (37) HEX PLUG [03CP12] | 2.00 Each | \$6.19 | \$12.38 |
| MALE JIC (37) HEX PLUG [03CP8] 8.00 Each \$9.86 \$\$ M-M NPT NIPPLE [0101-12-16] 2.00 Each \$9.29 \$18 M-M NPT NIPPLE [0101-6-6] 3.00 Each \$9.29 \$18 M-M NPT NIPPLE [0101-6-6] 3.00 Each \$2.11 \$6 MOTHERS -X REF 35316 [MOT35316] 1.00 Each \$8.51 \$8 OR325 O-RING[Custom] 24.00 Each \$3.91 \$32 O-RING[Custom] 48.00 Box \$4.50 \$226 Pail of greases(Custom] 3.00 Each \$65.91 \$197 Paint Stick [Custom] 2.00 Each \$14.95 \$25 RRE-BUFF AEROSOL ASCOT 16 OZ(Custom] 2.00 Each \$2.10 \$110 RADIAL 10X7-1/2" CT82[Custom] 5.00 Each \$2.210 \$110 RADIAL 10X7-1/2" CT82[Custom] 3.00 Each \$3.7.25 \$111 Stem Puller[Custom] 3.00 Each \$3.45 \$65 SWIVEL VALVE STEAM[Custom] 5.00 Each \$3.45 \$65 SWIVEL VALVE STEAM[Custom] 5.00 Each \$9.64 \$38 USED OLD ONES FIRST, RATCHET TIEDOWN- MINI (1 X 16) [43887-10] 4.00 Each \$9.64 \$38 USED OLD ONES FIRST, Z" RATCHET STRAP W/WIRE HOOK [45982-43] 6.00 Each \$1.89 \$1.89 Valve Stems[Custom] 5.000 Each \$8.24 \$412 Valve Stems[Custom] 5.000 Each \$3.93 \$33 WHEEL SPACER BETWEEN RIMS [AS903] 8.00 Each \$2.3.99 \$47 Total Parts \$6,5000 | MALE JIC (37) HEX PLUG [03CP6] | 6.00 Each | \$0.70 | \$4.20 |
| M-M NPT NIPPLE [0101-12-16] 2.00 Each \$9.29 \$18 M-M NPT NIPPLE [0101-6-6] 3.00 Each \$2.11 \$8 MOTHERS -X REF 35316 [MOT35316] 1.00 Each \$8.51 \$8 MOTHERS -X REF 35316 [MOT35316] 24.00 Each \$8.51 \$8 MOTHERS -X REF 35316 [MOT35316] 24.00 Each \$8.51 \$8 OR325 O-RING[Custom] 24.00 Each \$3.91 \$93 O-RING[Custom] 3.00 Each \$4.50 \$216 ali of grease[Custom] 3.00 Each \$65.91 \$197 Paint Stick [Custom] 2.00 Each \$14.95 \$25 PRE-BUFF AEROSOL ASCOT 16 OZ[Custom] 2.00 Each \$9.95 \$15 RADIAL 10X7-1/2" CT82[Custom] 5.00 Each \$22.10 \$110 RADIAL 10X7-1/2" CT82[Custom] 3.00 Each \$22.10 \$110 Stem Puller [Custom] 3.00 Each \$37.25 \$111 Stem Puller [Custom] 2.00 Each \$3.45 \$65 SWIVEL VALVE STEAM[Custom] 5.00 Each \$9.64 \$38 USED OLD ONES FIRST, RATCHET TIEDOWN- MINI (1 X 16) [43887-10] 4.00 Each \$9.64 \$38 USED OLD ONES FIRST, 2" RATCHET STRAP WyWIRE HOOK [45982-43] 6.00 Each \$1.08 Valve Stems [Custom] 5.00 Each \$1.08 Valve Stems [Custom] 5.00 Each \$1.08 Valve Stems [Custom] 5.00 Each \$1.89 Valve Stems [Custom] 5.00 Each \$1.8 | MALE JIC (37) HEX PLUG [03CP6] | 10.00 Each | \$0.70 | \$7.00 |
| M-M NPT NIPPLE [0101-6-6] 3.00 Each \$2.11 \$6 MOTHERS -X REF 35316 [MOT35316] 1.00 Each \$8.51 \$6 NOR325 O-RING[Custom] 24.00 Each \$3.91 \$93 O-RING[Custom] 48.00 Box \$4.50 \$216 pail of grease[Custom] 3.00 Each \$65.91 \$197 Paint Stick [Custom] 2.00 Each \$14.95 \$25 PRE-BUFF AEROSOL ASCOT 16 OZ[Custom] 2.00 Each \$9.95 \$15 RADIAL 10X7-1/2" CT82[Custom] 5.00 Each \$9.95 \$15 RADIAL 10X7-1/2" CT82[Custom] 3.00 Each \$37.25 \$111 Stem Puller [Custom] 3.00 Each \$37.25 \$111 Stem Puller [Custom] 5.00 Each \$3.45 \$6.95 SWIVEL VALVE STEAM[Custom] 5.00 Each \$9.64 \$3.45 USEO OLD ONES FIRST, RATCHET TIEDOWN- MINI (1 X 16) [43887-10] 4.00 Each \$9.64 \$3.45 USEO OLD ONES FIRST, 2" RATCHET STRAP W/WIRE HOOK [45982-43] 6.00 Each \$1.0.87 Valve Stems [Custom] 5.000 Each \$1.0.87 Valve Stems [Custom] 5.000 Each \$3.393 \$31 WIPER BLADE [23417074] 2.00 Each \$3.393 \$31 WIPER BLADE [23417074] 2.00 Each \$2.3.99 \$47 Total Parts \$6,905 | MALE JIC (37) HEX PLUG [03CP8] | 8.00 Each | \$0.86 | \$6.88 |
| MOTHERS -X REF 35316 [MOT35316] 1.00 Each \$8.51 \$8 OR325 O-RING[Custom] 24.00 Each \$3.91 \$93 O-RING[Custom] 48.00 Box \$41.50 \$216 pail of grease[Custom] 3.00 Each \$65.91 \$197 Paint Stick [Custom] 2.00 Each \$14.95 \$25 PRE-BUFF AEROSOL ASCOT 16 OZ[Custom] 2.00 Each \$9.95 \$15 RADIAL 10X7-1/2" CT82[Custom] 5.00 Each \$22.10 \$110 RADIAL R140 JET 8X4 108X[Custom] 20.00 Each \$37.25 \$111 Stem Puller[Custom] 3.00 Each \$37.25 \$111 Stem Puller[Custom] 5.00 Each \$3.45 \$65 SWIVEL VALVE STEAM[Custom] 5.00 Each \$8.24 \$412 USE OLD ONES FIRST, RATCHET TIEDOWN-MINI (1 X 16) [43887-10] 4.00 Each \$9.64 \$36 USED OLD ONES FIRST, 2" RATCHET STRAP W/WIRE HOOK [45982-43] 6.00 Each \$10.87 \$65 Valve Stems[Custom] 50.00 Each \$1.89 \$186 Valve Stems[Custom] 50.00 Each \$3.45 \$412 Valve Stems[Custom] 50.00 Each \$1.89 \$186 WHEEL SPACER BETWEEN RIMS [AS903] 8.00 Each \$3.93 \$31 WIPER BLADE [23417074] 2.00 Each \$2.39 \$47 Total Parts \$6,905 | M-M NPT NIPPLE [0101-12-16] | 2.00 Each | \$9.29 | \$18.58 |
| OR325 O-RING[Custom] 24.00 Each \$3.91 \$93 O-RING[Custom] 48.00 Box \$4.50 \$216 pail of grease[Custom] 3.00 Each \$65.91 \$197 Paint Stick (Custom] 2.00 Each \$14.95 \$25 PRE-BUFF AEROSOL ASCOT 16 OZ[Custom] 2.00 Each \$9.95 \$15 RADIAL 10X7-1/2" CT82[Custom] 5.00 Each \$22.10 \$110 RADIAL R140 JET 8X4 10BX[Custom] 2.00 Each \$37.25 \$111 Stem Puller[Custom] 3.00 Each \$37.25 \$111 Stem Puller[Custom] 2.00 Each \$3.45 \$6.95 SWIVEL VALVE STEAM[Custom] 5.00 Each \$3.45 \$6.95 SWIVEL VALVE STEAM[Custom] 5.00 Each \$9.64 \$3.64 USED OLD ONES FIRST, RATCHET TIEDOWN- MINI (1 X 16) [43887-10] 4.00 Each \$9.64 \$3.65 USED OLD ONES FIRST, 2" RATCHET STRAP W/WIRE HOOK [45982-43] 6.00 Each \$10.87 \$6.95 Valve Stem [Custom] 50.00 Each \$1.89 \$1.89 Valve Stems[Custom] 50.00 Each \$1.89 \$1.89 Valve Stems[Custom] 50.00 Each \$3.45 WHEEL SPACER BETWEEN RIMS [A5903] 8.00 Each \$3.93 \$3.93 WIPER BLADE [23417074] 2.00 Each \$2.399 \$47 Total Parts \$6,903 | M-M NPT NIPPLE [0101-6-6] | 3.00 Each | \$2.11 | \$6.32 |
| O-RING[Custom] | MOTHERS -X REF 35316 [MOT35316] | 1.00 Each | \$8.51 | \$8.51 |
| pail of grease[Custom] 3.00 Each \$65.91 \$197 Paint Stick [Custom] 2.00 Each \$14.95 \$25 PRE-BUFF AEROSOL ASCOT 16 OZ[Custom] 2.00 Each \$9.95 \$15 RADIAL 10X7-1/2" CT82[Custom] 5.00 Each \$22.10 \$110 RADIAL R140 JET 8X4 10BX[Custom] 20.00 Each \$6.95 \$135 retred cups[Custom] 3.00 Each \$37.25 \$111 Stem Puller[Custom] 2.00 Each \$3.45 \$6 SWIVEL VALVE STEAM[Custom] 50.00 Each \$8.24 \$412 USE OLD ONES FIRST, RATCHET TIEDOWN- MINI (1 X 16) [43887-10] 4.00 Each \$9.64 \$38 USED OLD ONES FIRST, 2" RATCHET STRAP W/WIRE HOOK [45982-43] 6.00 Each \$10.87 \$65 Valve Stems [Custom] 50.00 Each \$1.89 \$185 Valve Stems [Custom] 50.00 Each \$3.93 \$31 WHEEL SPACER BETWEEN RIMS [AS903] 8.00 Each \$2.00 \$3.93 \$31 WIPER BLADE [23417074] 2.00 Each \$2.399 \$47 Total Equip \$6.90 \$6.90 \$6.90 \$6.90 Total Equip \$6. | OR325 O-RING[Custom] | 24.00 Each | \$3.91 | \$93.84 |
| Paint Stick [Custom] 2.00 Each \$14.95 \$29 PRE-BUFF AEROSOL ASCOT 16 OZ[Custom] 2.00 Each \$9.95 \$15 RADIAL 10X7-1/2" CT82[Custom] 5.00 Each \$9.95 \$15 RADIAL R140 JET 8X4 10BX[Custom] 20.00 Each \$6.95 \$135 retred cups[Custom] 3.00 Each \$37.25 \$111 Stem Puller[Custom] 2.00 Each \$3.45 \$65 SWIVEL VALVE STEAM[Custom] 50.00 Each \$8.24 \$412 USE OLD ONES FIRST, RATCHET TIEDOWN- MINI (1 X 16) [43887-10] 4.00 Each \$9.64 \$35 USED OLD ONES FIRST, 2" RATCHET STRAP W/WIRE HOOK [45982-43] 6.00 Each \$1.89 \$185 Valve Stems [Custom] 50.00 Each \$8.24 \$412 Valve Stems [Custom] 50.00 Each \$8.24 \$412 Valve Stems [Custom] 50.00 Each \$1.89 \$185 Valve Stems [Custom] 50.00 Each \$3.93 \$31 WHEEL SPACER BETWEEN RIMS [AS903] 8.00 Each \$3.93 \$31 WIPER BLADE [23417074] 2.00 Each \$23.99 \$47 Total Parts \$6,905 | O-RING[Custom] | 48.00 Box | \$4.50 | \$216.00 |
| PRE-BUFF AEROSOL ASCOT 16 OZ[Custom] 2.00 Each \$9.95 \$15 RADIAL 10X7-1/2" CT82[Custom] 5.00 Each \$22.10 \$110 RADIAL R140 JET 8X4 10BX[Custom] 20.00 Each \$6.95 \$135 retred cups[Custom] 3.00 Each \$37.25 \$111 Stem Puller[Custom] 2.00 Each \$3.45 \$65 SWIVEL VALVE STEAM[Custom] 50.00 Each \$8.24 \$412 USE OLD ONES FIRST, RATCHET TIEDOWN- MINI (1 X 16) [43887-10] 4.00 Each \$9.64 \$36 USED OLD ONES FIRST, 2" RATCHET STRAP W/WIRE HOOK [45982-43] 6.00 Each \$10.87 \$65 Valve Stem [Custom] 100.00 Each \$1.89 \$185 Valve Stems[Custom] 50.00 Each \$8.24 \$412 Valve Stems[Custom] 50.00 Each \$3.93 \$31 WHEEL SPACER BETWEEN RIMS [AS903] 8.00 Each \$3.93 \$31 WIPER BLADE [23417074] 2.00 Each \$3.99 \$47 Total Parts \$6,905 | pail of grease[Custom] | 3.00 Each | \$65.91 | \$197.73 |
| RADIAL 10X7-1/2" CT82[Custom] 5.00 Each \$22.10 \$110 RADIAL R140 JET 8X4 10BX[Custom] 20.00 Each \$6.95 \$139 retred cups[Custom] 3.00 Each \$37.25 \$111 Stem Puller[Custom] 2.00 Each \$3.45 \$6 SWIVEL VALVE STEAM[Custom] 50.00 Each \$8.24 \$412 USE OLD ONES FIRST, RATCHET TIEDOWN- MINI (1 X 16) [43887-10] 4.00 Each \$9.64 \$36 USED OLD ONES FIRST, 2" RATCHET STRAP W/WIRE HOOK [45982-43] 6.00 Each \$10.87 \$65 Valve Stems[Custom] 100.00 Each \$1.89 \$189 Valve Stems[Custom] 50.00 Each \$8.24 \$412 Valve Stems[Custom] 50.00 Each \$3.00 WHEEL SPACER BETWEEN RIMS [A5903] 8.00 Each \$3.93 \$31 WIPER BLADE [23417074] 2.00 Each \$3.99 \$47 Total Equip \$6,905 | Paint Stick [Custom] | 2.00 Each | \$14.95 | \$29.90 |
| RADIAL R140 JET 8X4 10BX[Custom] 20.00 Each \$6.95 \$139 retred cups[Custom] 3.00 Each \$37.25 \$111 Stem Puller[Custom] 2.00 Each \$3.45 \$6 SWIVEL VALVE STEAM[Custom] 50.00 Each \$8.24 \$412 USE OLD ONES FIRST, RATCHET TIEDOWN- MINI (1 X 16) [43887-10] 4.00 Each \$9.64 \$36 USED OLD ONES FIRST, 2" RATCHET STRAP W/WIRE HOOK [45982-43] 6.00 Each \$10.87 \$65 Valve Stem [Custom] 100.00 Each \$1.89 \$189 Valve Stems[Custom] 50.00 Each \$8.24 \$412 Valve Stems[Custom] 50.00 Each \$2.60 \$130 WHEEL SPACER BETWEEN RIMS [A5903] 8.00 Each \$3.93 \$31 WIPER BLADE [23417074] 2.00 Each \$23.99 \$47 Total Parts \$6,905 | PRE-BUFF AEROSOL ASCOT 16 OZ[Custom] | 2.00 Each | \$9.95 | \$19.90 |
| retred cups[Custom] 3.00 Each \$37.25 \$1115 Stem Puller[Custom] 2.00 Each \$3.45 \$65 SWIVEL VALVE STEAM[Custom] 50.00 Each \$8.24 \$412 USE OLD ONES FIRST, RATCHET TIEDOWN- MINI (1 X 16) [43887-10] 4.00 Each \$9.64 \$365 USED OLD ONES FIRST, 2" RATCHET STRAP W/WIRE HOOK [45982-43] 6.00 Each \$10.87 \$655 Valve Stem [Custom] 100.00 Each \$1.89 \$1865 Valve Stems[Custom] 50.00 Each \$8.24 \$412 Valve Stems[Custom] 50.00 Each \$2.60 \$130 WHEEL SPACER BETWEEN RIMS [A5903] 8.00 Each \$3.93 \$31 WIPER BLADE [23417074] 2.00 Each \$23.99 \$477 Total Parts \$6,905 | RADIAL 10X7-1/2" CT82[Custom] | 5.00 Each | \$22.10 | \$110.50 |
| Stem Puller[Custom] 2.00 Each \$3.45 \$6 SWIVEL VALVE STEAM[Custom] 50.00 Each \$8.24 \$412 USE OLD ONES FIRST, RATCHET TIEDOWN- MINI (1 X 16) [43887-10] 4.00 Each \$9.64 \$38 USED OLD ONES FIRST, 2" RATCHET STRAP W/WIRE HOOK [45982-43] 6.00 Each \$10.87 \$65 Valve Stem [Custom] 100.00 Each \$1.89 \$189 Valve Stems[Custom] 50.00 Each \$8.24 \$412 Valve Stems[Custom] 50.00 Each \$2.60 \$130 WHEEL SPACER BETWEEN RIMS [A5903] 8.00 Each \$3.93 \$31 WIPER BLADE [23417074] 2.00 Each \$23.99 \$47 Total Parts \$6,905 | RADIAL R140 JET 8X4 10BX[Custom] | 20.00 Each | \$6.95 | \$139.00 |
| SWIVEL VALVE STEAM[Custom] 50.00 Each \$8.24 \$412 USE OLD ONES FIRST, RATCHET TIEDOWN- MINI (1 X 16) [43887-10] 4.00 Each \$9.64 \$38 USED OLD ONES FIRST, 2" RATCHET STRAP W/WIRE HOOK [45982-43] 6.00 Each \$10.87 \$65 Valve Stem [Custom] 100.00 Each \$1.89 \$189 Valve Stems[Custom] 50.00 Each \$8.24 \$412 Valve Stems[Custom] 50.00 Each \$2.60 \$130 WHEEL SPACER BETWEEN RIMS [A5903] 8.00 Each \$3.93 \$31 WIPER BLADE [23417074] 2.00 Each \$2.399 \$47 Total Parts \$6,905 | retred cups[Custom] | 3.00 Each | \$37.25 | \$111.75 |
| USE OLD ONES FIRST, RATCHET TIEDOWN- MINI (1 X 16) [43887-10] 4.00 Each \$9.64 \$38 USED OLD ONES FIRST, 2" RATCHET STRAP W/WIRE HOOK [45982-43] 6.00 Each \$10.87 \$65 Valve Stem [Custom] 100.00 Each \$1.89 \$189 Valve Stems[Custom] 50.00 Each \$8.24 \$412 Valve Stems[Custom] 50.00 Each \$2.60 \$130 WHEEL SPACER BETWEEN RIMS [A5903] 8.00 Each \$3.93 \$31 WIPER BLADE [23417074] 2.00 Each \$23.99 \$47 Total Parts \$6,905 Total Equip \$0.00 Each \$0.00 Each \$0.00 Each \$2.00 Eac | Stem Puller[Custom] | 2.00 Each | \$3.45 | \$6.90 |
| USED OLD ONES FIRST, 2" RATCHET STRAP W/WIRE HOOK [45982-43] 6.00 Each \$10.87 \$65 Valve Stem [Custom] 100.00 Each \$1.89 \$189 Valve Stems[Custom] 50.00 Each \$8.24 \$412 Valve Stems[Custom] 50.00 Each \$2.60 \$130 WHEEL SPACER BETWEEN RIMS [A5903] 8.00 Each \$3.93 \$31 WIPER BLADE [23417074] 2.00 Each \$23.99 \$47 Total Parts \$6,905 | SWIVEL VALVE STEAM[Custom] | 50.00 Each | \$8.24 | \$412.00 |
| Valve Stem [Custom] 100.00 Each \$1.89 \$189 Valve Stems[Custom] 50.00 Each \$8.24 \$412 Valve Stems[Custom] 50.00 Each \$2.60 \$130 WHEEL SPACER BETWEEN RIMS [A5903] 8.00 Each \$3.93 \$31 WIPER BLADE [23417074] 2.00 Each \$23.99 \$47 Total Parts \$6,905 Total Equip \$0 | USE OLD ONES FIRST, RATCHET TIEDOWN- MINI (1 X 16) [43887-10] | 4.00 Each | \$9.64 | \$38.56 |
| Valve Stems[Custom] 50.00 Each \$8.24 \$412 Valve Stems[Custom] 50.00 Each \$2.60 \$130 WHEEL SPACER BETWEEN RIMS [A5903] 8.00 Each \$3.93 \$31 WIPER BLADE [23417074] 2.00 Each \$23.99 \$47 Total Parts \$6,905 Total Equip \$0 | USED OLD ONES FIRST, 2" RATCHET STRAP W/WIRE HOOK [45982-43] | 6.00 Each | \$10.87 | \$65.24 |
| Valve Stems[Custom] 50.00 Each \$2.60 \$130 WHEEL SPACER BETWEEN RIMS [A5903] 8.00 Each \$3.93 \$31 WIPER BLADE [23417074] 2.00 Each \$23.99 \$47 Total Parts \$6,905 Total Equip \$0 | Valve Stem [Custom] | 100.00 Each | \$1.89 | \$189.00 |
| WHEEL SPACER BETWEEN RIMS [A5903] 8.00 Each \$3.93 \$31 WIPER BLADE [23417074] 2.00 Each \$23.99 \$47 Total Parts \$6,905 Total Equip \$0 | Valve Stems[Custom] | 50.00 Each | \$8.24 | \$412.00 |
| WIPER BLADE [23417074] 2.00 Each \$23.99 \$47 Total Parts \$6,905 Total Equip \$0 | Valve Stems[Custom] | 50.00 Each | \$2.60 | \$130.00 |
| Total Parts \$6,905 Total Equip \$0 | WHEEL SPACER BETWEEN RIMS [A5903] | 8.00 Each | \$3.93 | \$31.40 |
| Total Equip \$0 | WIPER BLADE [23417074] | 2.00 Each | \$23.99 | \$47.98 |
| | | | | \$6,905.6 |
| | | | | \$0.00 |

Completed By

Reported Hours

Item ID

Description

21582 4260- DIRECT BILL

Maintain Administrator

0.00

Work Order:

14014

INTERNATIONAL CV 3T PICKER [4260]

Serial Number:

Transferred

Equipment: Work Location:

16-17-52-19

Seriai Number:

1HTKTSWM9LH681628

WORK LOCATION

10-17-52-15

Business Unit: Start Date: Trucks Heavy 7-30-2020

Created by: Kms: Rob Hilton 210

Stop Date:

Status:

7-30-2020

Hr:

583

Work Order Cost Summary

| Description | Quantity Labor Type | Rate | Total |
|------------------------------------------|------------------------|-------------|----------|
| ROBERT HILTON | 3.50 RT Shop Tire Tech | \$35.00 | \$122.50 |
| | | Total Labor | \$122.50 |
| 10MM STEEL ZINC STUD [790110Z] | 8.00 Each | \$4.56 | \$36.48 |
| 3RD PARTY VENDOR REPAIRS & LABOUR [7230] | 1.00 Each | \$304.09 | \$304.09 |
| STEEL ZINC PLATE 10 MM BALL [710102z] | 1.00 Each | \$3.41 | \$3.41 |
| | | Total Parts | \$343.98 |
| | | Total Equip | \$0.00 |
| | | Total Cost | \$466.48 |

| Item ID | Description | Completed I | By Reported Hours | |
|---------|------------------|-------------|-------------------|--|
| 23393 | 4260 - rig truck | Rob Hilton | 3.50 | |

Work Order:

14531

Status:

Transferred

Equipment:

INTERNATIONAL CV 3T PICKER [4260]

Serial Number:

1HTKTSWM9LH681628

Work Location:

Current Equipment Location

Business Unit:

Trucks Heavy

Created by:

Rob Hilton

Start Date:

8-19-2020

Kms: Hr: 210

583

Stop Date:

8-19-2020

| Description | Quantity Labor Type | Rate | Total |
|---------------|------------------------|-------------|----------|
| ROBERT HILTON | 4.50 RT Shop Tire Tech | \$35.00 | \$157.50 |
| | | Total Labor | \$157.50 |
| | | Total Parts | \$0.00 |
| | | Total Equip | \$0.00 |
| | | Total Cost | \$157.50 |

| *tem ID | Description | Completed By | Reported Hours |
|---------|------------------|--------------|----------------|
| | | | |
| 24305 | 4260 - 8/17/2020 | Rob Hilton | 4.50 |

14692

Equipment:

INTERNATIONAL CV 3T PICKER [4260]

Work Location:

Created by:

Maintain Administrator

Kms: 210 Hr: 583

Status:

Serial Number:

Business Unit:

Start Date:

Stop Date:

Transferred

1HTKTSWM9LH681528

Trucks Heavy

Work Order Cost Summary

| Description | Quantity Labor Type | Rate | Total |
|------------------------------------------------|---------------------|-------------|------------|
| | | Total Labor | \$0.00 |
| ALBERTA TIRE RECYCLING FEE [ABLEVY2] | 6.00 Each | \$4.00 | \$24.00 |
| GLOVER INV 268653[Custom] | 1.00 Each | \$223.20 | \$223.20 |
| MFG REBATE [FST TRUCK TBR] | 6.00 Each | (\$25.00) | (\$150.00) |
| MICHELIN STEER TIRE [245/70R19.5 XDS2] | 2.00 Each | \$431.20 | \$862.40 |
| TIRE FEE [ALBERTA ADS] | 1.00 Each | \$8.00 | \$8.00 |
| Trailer Tire [245/70R19.5G14 FSTY TR AT2 3PMS] | 6.00 Each | \$332.50 | \$1,995.00 |
| | | Total Parts | \$2,962.60 |
| | | Total Equip | \$0.00 |
| | | Total Cost | \$2,962.60 |

| Item ID | Description | Completed By | Reported Hours | |
|---------|------------------------------------|------------------------|----------------|--|
| 24620 | 4260 - VENDOR TIRE REPAIR INVOICES | Nick Depratto | 0.00 | |
| 24621 | 4260 - VENDOR REPAIR INVOICES | Maintain Administrator | 0.00 | |
| 24622 | 4260 - VENDOR WINDSHIELD INVOICES | Nick Depratto | 0.00 | |

Work Order:

15107

Equipment: INTERNATIONAL CV 3T PICKER [4260] Rocky Mountain House Shop

Work Location: Created by:

Kms:

Colton Parker

210 583 Hr:

Transferred Status:

1HTKTSWM9LH681628 **Serial Number:**

Business Unit: Trucks Heavy **Start Date:** 9-4-2020

Stop Date: 9-18-2020

| Description | Quantity Labor Type | Rate | Total |
|-------------|-----------------------|-------------|----------|
| REESE KOCH | 9.00 RT Shop Mech Rky | \$50.00 | \$450.00 |
| | | Total Labor | \$450.00 |
| | | Total Parts | \$0.00 |
| | | Total Equip | \$0.00 |
| | | Total Cost | \$450.00 |

| Item ID | Description | Completed By | Reported Hours | |
|---------|------------------|--------------|----------------|--|
| | | | | |
| 25487 | REPLACE INVERTER | Reese Koch | 2.00 | |

25488 BUILD AND INSTALL ONE OR TWO SHELVES IN PASSENGER CABINET

Reese Koch

7.00

Work Order: Equipment:

16364

INTERNATIONAL CV 3T PICKER [4260]

Work Location:

Rocky Mountain House Shop

Created by:

Trace Pidherney

Kms:

583

Hr:

210

Status:

Transferred

Serial Number:

1HTKTSWM9LH681628

Business Unit:

Trucks Heavy

Start Date: Stop Date:

10-27-2020 10-30-2020

Work Order Cost Summary

| Description | Quantity Labor Type | Rate | Total |
|---------------------------------------|------------------------|-------------|------------|
| BRETT LANGFORD | 4.00 RT Shop Mech Rky | \$50.00 | \$200.00 |
| H. KANIELA JOHNSON | 11.50 RT Shop Weld Rky | \$49.00 | \$563.50 |
| | | Total Labor | \$763.50 |
| AIR FILTER [6040856C1] | 1.00 Each | \$34.83 | \$34.83 |
| ENGINE AIR FILTER [2518540C1] | 1.00 Each | \$112.82 | \$112.82 |
| ENGINE FUEL FILTER [2515892C91] | 1.00 Each | \$72.25 | \$72.25 |
| FENDER RUBBER [307340000] | 8.00 Each | \$33.89 | \$271.12 |
| OIL FILTER [6040648C1] | 1.00 Each | \$16.25 | \$16.25 |
| TIDHERNEY MUD FLAP - 24 X 24 [PB2424] | 1.00 Each | \$27.19 | \$27.19 |
| | | Total Parts | \$534.45 |
| | | Total Equip | \$0.00 |
| | | Total Cost | \$1,297.95 |

| Item ID | Description | Completed By | Reported Hours |
|---------------------|-------------------------------------|---------------|----------------|
| 28008 | BUILD RUNNING BOARD MUDFLAPS | Kani Johnson | 11.50 |
| 26607 5K service | 5K Service | Nick Depratto | 4.00 |
| 23099 P.O 3492 | SOB - FEMCO OIL DRAIN HOSE AND PLUG | Nick Depratto | 0.00 |
| 26462 P.O 5049 | SOB - FILLER CAP | Nick Depratto | 0.00 |

York Order:

17293

Equipment:

INTERNATIONAL CV 3T PICKER [4260]

Work Location:

Rocky Mountain House Shop

Created by:

Colton Parker

Kms:

210

Status:

Serial Number:

Transferred

Business Unit:

Start Date:

Trucks Heavy 11-27-2020

1HTKTSWM9LH681628

Stop Date:

12-1-2020

| Work Order Cos | t Summary |
|-----------------------|-----------|
|-----------------------|-----------|

| Description | Quantity Labor Type | Rate | Total |
|------------------------------|-----------------------|-------------|----------|
| H. KANIELA JOHNSON | 5.00 RT Shop Weld Rky | \$49.00 | \$245.00 |
| | | Total Labor | \$245.00 |
| FENDER FLARE CLIP [K198-653] | 11.00 Each | \$3.98 | \$43.74 |
| | | Total Parts | \$43.74 |
| | | Total Equip | \$0.00 |
| | | Total Cost | \$288.74 |

| Item ID | Description | Completed By | Reported Hours | |
|---------|------------------------|--------------|----------------|---------------------------------------|
| 29898 | INSTALL FENDER FLARES | Kani Johnson | 3.00 | · · · · · · · · · · · · · · · · · · · |
| 29899 | INSTALL BACK UP CAMERA | Kani Johnson | 2.00 | |

17359

Equipment:

INTERNATIONAL CV 3T PICKER [4260]

Status:

Transferred

Work Location: Created by:

Kms:

Colton Parker 210 583

Hr:

Serial Number:

1HTKTSWM9LH681628

Business Unit: Start Date:

Stop Date:

Trucks Heavy

Work Order Cost Summary

| Description | Quantity Labor Type | Rate | Total |
|--------------------------------------------------------------|---------------------|-------------|----------|
| | | Total Labor | \$0.00 |
| BOOM CRANE[Custom] | 1.00 Each | \$350.00 | \$350.00 |
| USED OLD ONES FIRST, 2" RATCHET STRAP W/WIRE HOOK [45982-43] | 4.00 Each | \$5.65 | \$22.60 |
| | | Total Parts | \$372.60 |
| | | Total Equip | \$0.00 |
| | | Total Cost | \$372.60 |

| Item ID | Description | Completed By | Reported Hours | |
|---------|-------------------------|---------------|----------------|--|
| 30095 | NDT Inspection - Picker | Nick Depratto | 0.00 | |
| 30093 | NOT Inspection - Picker | Nick Deplatio | 0.00 | |

Work Order: **Equipment:**

18691

INTERNATIONAL CV 3T PICKER [4260]

Serial Number: **Business Unit:**

Transferred

Work Location:

Rocky Mountain House Shop

Start Date:

Trucks Heavy

1HTKTSWM9LH681628

Created by:

Colton Parker

Stop Date:

Status:

2-19-2021

Kms: Hr:

210 583

2-22-2021

| Description | Quantity Labor Type | Rate | Total |
|--------------------------------|-----------------------|-------------|----------|
| ROBERT WILLIAMS | 4.00 RT Shop Mech Rky | \$50.00 | \$200.00 |
| | | Total Labor | \$200.00 |
| ENGINE AIR FILTER [2518540C1] | 1.00 Each | \$112.50 | \$112.50 |
| NGINE FUEL FILTER [2515892C91] | 1.00 Each | \$72.25 | \$72.25 |
| OIL FILTER [6040648C1] | 1.00 Each | \$16.22 | \$16.22 |
| | | Total Parts | \$200.98 |
| | | Total Equip | \$0.00 |
| | | Total Cost | \$400.98 |

| Item ID | Description | Completed By | Reported Hours |
|------------|-------------|---------------|----------------|
| 30874 | 5K Service | Colton Parker | 4.00 |
| EV consico | | | |

19350

Status:

Transferred

Equipment:

INTERNATIONAL CV 3T PICKER [4260]

Serial Number: Business Unit: 1HTKTSWM9LH681628

Work Location:

Rocky Mountain House Shop Colton Parker

Start Date:

Trucks Heavy 3-19-2021

Created by: Kms:

210

Stop Date:

3-22-2021

Hr: 583

Jork Order Cost Summary

| Description | Quantity Labor Type | Rate | Total |
|--------------|-----------------------|-------------|----------|
| GARRY MELVIN | 2.00 RT Shop Mech Rky | \$50.00 | \$100.00 |
| | | Total Labor | \$100.00 |
| | | Total Parts | \$0.00 |
| | | Total Equip | \$0.00 |
| | | Total Cost | \$100.00 |

| Item ID | Description | Completed By | Reported Hours |
|---------|----------------------------------|---------------|----------------|
| 34365 | A/C NOT WORKING | Nick Depratto | 1.00 |
| 34366 | CHECK HIAB CYLINDERS FOR LEAKING | Nick Depratto | 1.00 |

Work Order:

20764

Status:

Transferred

Equipment:

INTERNATIONAL CV 3T PICKER [4260]

Serial Number:

1HTKTSWM9LH681628

Work Location:

Rocky Mountain House Shop

Business Unit:

Trucks Heavy

Created by:

Randy Wearmouth

Start Date:

5-28-2021

Kms:

4r:

210 583 Stop Date:

6-1-2021

| Description | Quantity Labor Type | Rate | Total |
|---------------|-----------------------|---------|----------|
| CLAYTON OLSON | 4.00 RT Shop Mech Rky | \$50.00 | \$200.00 |

| | | | 1 |
|---------------------------------|-----------|-------------|----------|
| | | Total Labor | \$200.00 |
| ENGINE AIR FILTER [2518540C1] | 1.00 Each | \$112.67 | \$112.67 |
| engine fuel filter [2515892C91] | 1.00 Each | \$72.25 | \$72.25 |
| OIL FILTER [6040648C1] | 1.00 Each | \$16.26 | \$16.26 |
| | | Total Parts | \$201.18 |
| | | Total Equip | \$0.00 |
| | | Total Cost | \$401.18 |
| | | | <u> </u> |

| Item ID | Description | Completed By | Reported Hours |
|------------|-------------|---------------|----------------|
| 37457 | 5K Service | Clayton Olson | 4.00 |
| 5K service | | | |

Work Order: **Equipment:**

20802

INTERNATIONAL CV 3T PICKER [4260]

Current Equipment Location

Work Location: Created by:

Rob Hilton

Kms: 210

583 Hr:

Status:

Serial Number:

Business Unit:

Start Date:

Stop Date:

Transferred

1HTKTSWM9LH681628

Trucks Heavy 5-23-2021

5-23-2021

Work Order Cost Summary

| Description | Quantity Labor Type | Rate | Total |
|-----------------------------|------------------------|--------------------|----------|
| ROBERT HILTON | 4.00 RT Shop Tire Tech | \$35.00 | \$140.00 |
| | | Total Labor | \$140.00 |
| NO-SPILL DRAIN TUBE[Custom] | 1.00 Each | \$20.88 | \$20.88 |
| | | Total Parts | \$20.88 |
| | | Total Equip | \$0.00 |
| | | Total Cost | \$160.88 |

| Item ID | Description | Completed By | Reported Hours | |
|---------|------------------|--------------|----------------|--|
| | | | | |
| 37517 | 4260 - 5/23/2021 | Rob Hilton | 4.00 | |

Work Order:

20851

Equipment:

INTERNATIONAL CV 3T PICKER [4260]

Work Location:

Rocky Mountain House Shop

Created by:

Blair MacAulay

Kms:

210

Hr: 583 Status:

Serial Number: Business Unit:

1HTKTSWM9LH681628 Trucks Heavy

Transferred

Start Date:

5-26-2021

Stop Date:

5-31-2021

| Description | Quantity Labor Type Rate | Total |
|--------------|--------------------------------|----------|
| KIRBY BERGEN | 18.50 RT Shop Mech Rky \$50.00 | \$925.00 |
| | Total Labor | \$925.00 |

| | | Total Cost | \$2,246.35 |
|---------------------------------------------|-----------|-------------|------------|
| | | Total Equip | \$0.00 |
| | | Total Parts | \$1,321.35 |
| TANDEM PUMP [P17(52)+11(11)11TANDEM] | 1.00 Each | \$1,258.58 | \$1,258.58 |
| ydraulic, Spin-On [P550387 {HF6720}] | 1.00 Each | \$14.00 | \$14.00 |
| FEMALE-FEMALE CONNECTOR [0202-12-12] | 1.00 Each | \$8.08 | \$8.08 |
| FEMALE SWV JIC (37) - CRIMP [10643-12-12] | 1.00 Each | \$12.72 | \$12.72 |
| F JIC 37DG SWIV 90DG ELB [13943-12-12] | 1.00 Each | \$27.97 | \$27.97 |

| Item ID | Description | Completed By | Reported Hours |
|---------|------------------------------------|----------------|----------------|
| 37621 | TPOLIRI E SHOOT HYDDALII IC ISSUES | Blair MacAulay | 18 50 |
| 37621 | TROUBLE SHOOT HYDRAULIC ISSUES | Blair MacAulay | 18.50 |

21273

INTERNATIONAL CV 3T PICKER [4260]

Equipment:
Work Location:

Rocky Mountain House Shop

Created by:

Randy Wearmouth

Kms:

Hr:

210 583 Status:

Stop Date:

Transferred

Serial Number:

1HTKTSWM9LH681628

Business Unit: Trucks Heavy **Start Date:** 6-11-2021

6-11-2021

Work Order Cost Summary

| Description | Quantity Labor Type | Rate | Total |
|-----------------------------------------------|-----------------------|--------------|--------------|
| TRBY BERGEN | 5.00 RT Shop Mech Rky | \$50.00 | \$250.00 |
| ľ | | Total Labor | \$250.00 |
| 6 BOLT HOT SHIFTPRESSURE LUB [PT3300PBE643SA] | 1.00 Each | \$1,831.45 | \$1,831.45 |
| 6S140-6 BOLT 140IN [PT6140S] | 1.00 Each | \$72.95 | \$72.95 |
| GEAR PUMP BEM 8 GAL [PTBEMA8S12] | 1.00 Each | \$522.10 | \$522.10 |
| HYD PUMP/ 1708.00 [P230-520775] | 1.00 Each | \$2,093.45 | \$2,093.45 |
| HYDRAULIC PUMP[Custom] | 1.00 Each | (\$2,093.45) | (\$2,093.45) |
| PARTS FREIGHT [7540] | 1.00 Each | \$136.00 | \$136.00 |
| PARTS FREIGHT [7540] | 1.00 Each | \$30.00 | \$30.00 |
| VALVE SELECTOR 1IN BPTF [HSV100] | 1.00 Each | \$201.93 | \$201.93 |
| | | Total Parts | \$2,794.43 |
| | | Total Equip | \$0.00 |
| | | Total Cost | \$3,044.43 |

| Item ID | Description | Completed By | Reported Hours |
|---------|-----------------------|----------------|----------------|
| 38503 | REPAIR HYDRAULIC LEAK | Blair MacAulay | 5.00 |

Vork Order: Equipment: 22039

INTERNATIONAL CV 3T PICKER [4260]

Work Location: Created by: Rocky Mountain House Shop Blair MacAulay Status:

Transferred

Serial Number:

1HTKTSWM9LH681628

Business Unit: Start Date: Trucks Heavy 7-9-2021

210 Stop Date: 7-13-2021 Kms: 583 Hr: **Work Order Cost Summary** Description **Quantity Labor Type** Rate Tota \$125.00 Shop Mech Rky \$50.00 GARRY MELVIN 2.50 RT **Total Labor** \$125.00 AIR FILTER [6040856C1] 1.00 Each \$33.72 \$33.72 \$112.61 \$112.61 ENGINE AIR FILTER [2518540C1] 1.00 Each \$72.25 \$72.25 ENGINE FUEL FILTER [2515892C91] 1.00 Each 1.00 Each \$16.25 \$16.25 OIL FILTER [6040648C1] \$234.83 **Total Parts Total Equip** \$0.00 **Total Cost** \$359.83 Item ID Description **Completed By** Reported Hours 37987 SOB - 4260 - NO SPILL OIL DRAIN HOSE Blair MacAulay 0.00 39767 5K Service Blair MacAulay 2.50 5K service ... **Work Order:** 22354 Status: Transferred **INTERNATIONAL CV 3T PICKER [4260]** Serial Number: 1HTKTSWM9LH681628 **Equipment: Business Unit: Work Location: Current Equipment Location** Trucks Heavy Created by: Carla Merklin **Start Date:** 7-17-2021 Kms: 210 **Stop Date:** 7-20-2021 Hr: 583 **Work Order Cost Summary** Description **Quantity Labor Type** Rate **Total** TEVIN FERRIS \$54.00 \$108.00 Shop Mech Field **Total Labor** \$108.00 Total Parts \$0.00 Total Equip \$0.00 **Total Cost** \$108.00 Item ID Description Completed By Reported Hours

Carla Merklin

Status:

Serial Number:

Business Unit:

Start Date:

Stop Date:

2.00

Transferred

Trucks Heavy

7-26-2021

7-28-2021

1HTKTSWM9LH681628

40652

Work Order:

Equipment:

Created by:

Kms:

Hr:

Work Location:

4260 - repair vmac compressor

22497

210

583

Blair MacAulay

INTERNATIONAL CV 3T PICKER [4260]

Rocky Mountain House Shop

Work Order Cost Summary

| Description | Quantity Labor Type | Rate | Total |
|-----------------|-----------------------|-------------|----------|
| CLAYTON OLSON | 2.25 RT Shop Mech Rky | \$50.00 | \$112.50 |
| / | | Total Labor | \$112.50 |
| RELAY [CB12650] | 1.00 Each | \$7.73 | \$7.73 |
| | | Total Parts | \$7.73 |
| | | Total Equip | \$0.00 |
| | | Total Cost | \$120.23 |

| Item ID | Description | Completed By | Reported Hours |
|---------|-------------------------|---------------|----------------|
| 40945 | REPAIR COMPRESSOR RELAY | Clayton Olson | 1.75 |
| 41057 | REPLACE RELAY | Clayton Olson | 0.50 |

Work Order:

22577

Status:

Transferred

Equipment:

INTERNATIONAL CV 3T PICKER [4260]

Serial Number:

1HTKTSWM9LH681628

Work Location:

Rocky Mountain House Shop

Business Unit:

Trucks Heavy

Created by:

Blair MacAulay

Start Date:

7-27-2021

Kms:

Hr:

210

583

Stop Date: 7-27-2021

Jork Order Cost Summary

| Description | Quantity Labor Type | Rate | Total |
|------------------|-----------------------|--------------------|----------|
| MITCHELL WILLERT | 2.00 RT Shop Mech Rky | \$50.00 | \$100.00 |
| | | Total Labor | \$100.00 |
| | | Total Parts | \$0.00 |
| | | Total Equip | \$0.00 |
| | | Total Cost | \$100.00 |

| Item ID | Description | Completed By | Reported Hours |
|---------|----------------------|------------------|----------------|
| 41086 | REPAIR RR TAIL LIGHT | Mitchell Willert | 2.00 |

Work Order:

24356

Status:

Transferred

Equipment:

INTERNATIONAL CV 3T PICKER [4260]

Serial Number:

1HTKTSWM9LH681628

Work Location:

Current Equipment Location

Business Unit:

Trucks Heavy

Created by:

Rob Hilton

Start Date:

9-25-2021

Kms:

Hr:

210 583 **Stop Date:**

9-25-2021

| Description | Quantity Labor Type R | ate Tota |
|---------------|-----------------------------|-------------|
| ROBERT HILTON | 1.00 RT Shop Tire Tech \$35 | .00 |
| | Total Lai | bor \$35.00 |

| Total | Parts | \$0.00 |
|-------|--------|---------|
| Total | Equip | \$0.00 |
| Tota | l Cost | \$35.00 |

| Item ID | | | l l |
|--------------------------------------------------------------------------------------------------|-----------------------------------------------------------------------------------|-----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|-----------------------|
| | Description | Completed By Reported Hours | |
| - | 2001174011 | Completed by Reported Hours | |
| 4448 4 | 4260 - 9/25/2021 | Rob Hilton 1.00 | |
| | | | |
| Work Order: | 24841 | Status: Transferred | |
| Equipment: | INTERNATIONAL CV 3T PICKER | | 1628 |
| Work Location | 1000, 110000000000000000000000000000000 | Business Unit: Trucks Heavy | |
| Created by: | Nick Depratto | Start Date: 11-15-2021 | |
| Kms: Hr: | 210 583 | Stop Date: 11-17-2021 | |
| | | | |
| Work Order Co | st Summary | | |
| Description | · · · · · · · · · · · · · · · · · · · | Quantity Labor Type Rate Total Labor | To |
| GLOVER INV 269 | 9554 [Custom] | 1.00 Each \$409.41 | \$409 |
| 52012111111203 | 733 · [eastorn] | | |
| | | Total Parts | \$409 |
| | | Total Equip | \$0 |
| | | Total Cost | \$409 |
| Item ID | Description | Completed By Reported Hours | |
| 45546 | OIL LEAKS NEAR THE TRANSMISSION AREA | Nick Depratto 0.00 | Ī |
| | | Mick Deplated 0.00 | |
| 16502 | 5K Service | Nick Depratto 0.00 | |
| | 5K Service | | |
| 5K service | | Nick Depratto 0.00 | |
| K service Work Order: | 25804 | Nick Depratto 0.00 Status: Transferred | 1630 |
| K service Work Order: Equipment: | 25804 INTERNATIONAL CV 3T PICKER | Nick Depratto 0.00 Status: Transferred [4260] Serial Number: 1HTKTSWM9LH68 | 1628 |
| Work Order: Equipment: | 25804 INTERNATIONAL CV 3T PICKER Rocky Mountain House Shop | Nick Depratto 0.00 Status: Transferred Serial Number: 1HTKTSWM9LH68 Business Unit: Trucks Heavy | 1628 |
| 5K service Work Order: Equipment: Work Location: Created by: | 25804 INTERNATIONAL CV 3T PICKER Rocky Mountain House Shop Blair MacAulay | Nick Depratto 0.00 Status: Transferred [4260] Serial Number: 1HTKTSWM9LH68 Business Unit: Trucks Heavy Start Date: 11-19-2021 | 1628 |
| 46502 ! 5K service Work Order: Equipment: Work Location: Created by: Kms: | 25804 INTERNATIONAL CV 3T PICKER Rocky Mountain House Shop | Nick Depratto 0.00 Status: Transferred Serial Number: 1HTKTSWM9LH68 Business Unit: Trucks Heavy | 1628 |
| Work Order: Equipment: Work Location: Created by: Kms: | 25804 INTERNATIONAL CV 3T PICKER Rocky Mountain House Shop Blair MacAulay 210 583 | Nick Depratto 0.00 Status: Transferred [4260] Serial Number: 1HTKTSWM9LH68 Business Unit: Trucks Heavy Start Date: 11-19-2021 | 1628 |
| Work Order: Equipment: Work Location: Created by: Kms: Hr: | 25804 INTERNATIONAL CV 3T PICKER Rocky Mountain House Shop Blair MacAulay 210 583 | Status: Transferred [4260] Serial Number: 1HTKTSWM9LH68 Business Unit: Trucks Heavy Start Date: 11-19-2021 Stop Date: 11-22-2021 | |
| Work Order: Equipment: Work Location: Created by: Kms: Hr: Work Order Co | 25804 INTERNATIONAL CV 3T PICKER Rocky Mountain House Shop Blair MacAulay 210 583 | Status: Transferred Serial Number: 1HTKTSWM9LH68 Business Unit: Trucks Heavy Start Date: 11-19-2021 Stop Date: 11-22-2021 Quantity Labor Type Rate | То |
| Work Order: Equipment: Work Location: Created by: Kms: Hr: | 25804 INTERNATIONAL CV 3T PICKER Rocky Mountain House Shop Blair MacAulay 210 583 | Status: Transferred [4260] Serial Number: 1HTKTSWM9LH68 Business Unit: Trucks Heavy Start Date: 11-19-2021 Stop Date: 11-22-2021 | To \$300 |
| Work Order: Equipment: Work Location: Created by: Kms: Hr: Work Order Co Description BRENT EVANS | 25804 INTERNATIONAL CV 3T PICKER Rocky Mountain House Shop Blair MacAulay 210 583 | Status: Transferred [4260] Serial Number: 1HTKTSWM9LH68 Business Unit: Trucks Heavy Start Date: 11-19-2021 Stop Date: 11-22-2021 Quantity Labor Type Rate 6.00 RT Shop Mech Rky \$50.00 | То |
| Work Order: Equipment: Work Location: Created by: Kms: Hr: Work Order Co Description BRENT EVANS | 25804 INTERNATIONAL CV 3T PICKER Rocky Mountain House Shop Blair MacAulay 210 583 | Status: Transferred Serial Number: 1HTKTSWM9LH68 Business Unit: Trucks Heavy Start Date: 11-19-2021 Stop Date: 11-22-2021 Quantity Labor Type Rate 6.00 RT Shop Mech Rky \$50.00 Total Labor | To \$300 \$300 |

Total Cost

\$522.42

| Item ID | Description | Completed By | Reported Hours | |
|---------|--------------------------------|--------------|----------------|--|
| 7488 | REPAIR BOOM EXTENSION CYLINDER | Brent Evans | 1.00 | |
| 47536 | COMPLETE SERVICE | Brent Evans | 5.00 | |

Work Order: Equipment:

25812

INTERNATIONAL CV 3T PICKER [4260]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms: Hr:

210

583

Status:

Transferred

Serial Number:

1HTKTSWM9LH681628

Business Unit: Start Date:

Trucks Heavy 11-18-2021

Stop Date:

11-18-2021

Work Order Cost Summary

| Quantity Labor Type | Rate | Total |
|-------------------------|----------------------------------------------------------|------------------------------------------------------------------------------------------------------------------------------------------------------|
| 4.00 RT Shop Mech Field | \$54.00 | \$216.00 |
| | Total Labor | \$216.00 |
| 1.00 Each | \$373.70 | \$373.70 |
| 1.00 Each | \$25.00 | \$25.00 |
| 1.00 Each | \$140.94 | \$140. 9 4 |
| 1.00 Each | \$38.73 | \$38.73 |
| | Total Parts | \$578.37 |
| | Total Equip | \$0.00 |
| | Total Cost | \$794.37 |
| | 4.00 RT Shop Mech Field 1.00 Each 1.00 Each 1.00 Each | 4.00 RT Shop Mech Field \$54.00 Total Labor 1.00 Each \$373.70 1.00 Each \$25.00 1.00 Each \$140.94 1.00 Each \$38.73 Total Parts Total Equip |

| Item ID Desc | ription | Completed By | Reported Hours |
|----------------|-------------------------------------|-----------------------|-------------------|
| 47502 4260 | - remove leaking hydraulic cylinder | Carla Merklin | 4.00 |
| Work Order: | 26422 | Status: | Transferred |
| Equipment: | INTERNATIONAL CV 3T PICKER [4260] | Serial Number: | 1HTKTSWM9LH681628 |
| Work Location: | Rocky Mountain House Shop | Business Unit: | Trucks Heavy |
| Created by: | Blair MacAulay | Start Date: | 12-15-2021 |
| Kms: | 210 | Stop Date: | 12-16-2021 |
| Hr: | 583 | | |

| Description | Quantity Labor Type | Rate | Total |
|--------------------------------|-----------------------|--------------------|----------|
| BRENT EVANS | 1.00 RT Shop Mech Rky | \$50.00 | \$50.00 |
| AYTON OLSON | 3.00 RT Shop Mech Rky | \$50.00 | \$150.00 |
| H. KANIELA JOHNSON | 0.50 RT Shop Weld Rky | \$49.00 | \$24.50 |
| | | Total Labor | \$224.50 |
| FEMALE SAE JIC 37 CAP [06CP-8] | 2.00 Each | \$2.84 | \$5.68 |

| Male Jic (37) Hex Plu | JG [03CP-8] | 2.00 Each | | \$1.28 Total Parts Total Equip | \$2.56 \$8.24 \$0.00 |
|------------------------------|-------------------------------------------------|-------------|---------------------------|----------------------------------|----------------------------|
| | | | | Total Cost | \$232.74 |
| Item ID Descr | iption | | Completed By | Reported Hours | |
| 48750 REPAI | R LH OUTRIGGER | | Clayton Olson | 1.50 | |
| 48984 REPLA | CE HYDRAULC LINES | | Clayton Olson | 3.00 | |
| Work Order: | 26573 | | Status: | Transferred | |
| Equipment: | INTERNATIONAL CV 3T PICKER [4260] | | Serial Number: | 1HTKTSWM9LH681 | 528 |
| Work Location: | Rocky Mountain House Shop | | Business Unit: | Trucks Heavy | |
| Created by: | Blair MacAulay | | Start Date: | 12-16-2021 | |
| Kms: Hr: | 210 583 | | Stop Date: | 12-17-2021 | |
| Work Order Cost Su | mmary | | | | |
| Description | | Quantity | Labor Type | Rate | Total |
| CLAYTON OLSON | | 1.00 RT | Shop Mech Rky | \$50.00 | \$50.00 |
| | | | | Total Labor | \$50.00 |
| 1/2" SAE 100R12 HOSE | | 135.00 Inch | | \$0.94 | \$126.90 |
| 3/4" SAE 100R12 HOSE | : [/221C-12-RL] | 61.00 Each | | \$1.14 | \$69.54 |
| F JIC 37DG SWIV 90DG | G ELB [13943-12-12] | 1.00 Each | | \$27.88 | \$27.88 |
| F JIC 37DG SWIV 90D0 | G ELB [13943-8-8] | 2.00 Each | | \$17.08 | \$34.16 |
| FEMALE SWV JIC (37 |) - CRIMP [10643-12-12] | 1.00 Each | | \$13.52 | \$13.52 |
| MALE JIC 37DEG - CRI | MP [10343-8-8] | 2.00 Each | | \$6.87 | \$13.74 |
| | | | | Total Parts | \$285.74 |
| | | | | Total Equip | \$0.00 |
| | | : <u></u> | | Total Cost | \$335.74 |
| | | | | | |
| Item ID Descr | iption | | Completed By | Reported Hours | |
| 49004 REPAII | R DAMAGED FITTING ON REBUILT OUTRIGGER CYLINDER | | Clayton Olson | 1.00 | |
| Work Order: | 31852 | | Status: | Transferred | |
| Equipment: | INTERNATIONAL CV 3T PICKER [4260] | | Status: Serial Number: | 1HTKTSWM9LH6816 | 28 |
| Equipment. Work Location: | Rocky Mountain House Shop | | Business Unit: | Trucks Heavy | _ - |
| Created by: | Blair MacAulay | | Start Date: | 6-6-2022 | • |
| • | • | | | | |
| Kms: | 210 | | Stop Date: | 6-7-2022 | |

Work Order Cost Summary

| Description | Quantity Labor Type | Rate | Total |
|------------------------------------------|-----------------------|--------------------|----------|
| CLAYTON OLSON | 1.50 RT Shop Mech Rky | \$49.05 | \$73.58 |
| MITCHELL WILLERT | 5.50 RT Shop Mech Rky | \$49.05 | \$269.78 |
| | | Total Labor | \$343.35 |
| 3RD PARTY VENDOR REPAIRS & LABOUR [7230] | 1.00 Each | \$60.00 | \$60.00 |
| M-M NPT NIPPLE [0101-6-6] | 2.00 Each | \$2.11 | \$4.21 |
| | | Total Parts | \$64.21 |
| | | Total Equip | \$0.00 |
| | | Total Cost | \$407.56 |

| item ID | Description | Completed By | Reported Hours |
|-------------|-----------------------------------|------------------|-------------------|
| 58581 | REPAIR BRAKE FLUID LEAK | Mitchell Willert | 7.00 |
| Work Order | 32376 | Status: | Transferred |
| Equipment: | INTERNATIONAL CV 3T PICKER [4260] | Serial Number: | 1HTKTSWM9LH681628 |
| Nork Locati | on: Blackfalds Shop | Business Unit: | Trucks Heavy |
| Created by: | Oom Jarussirirat | Start Date: | 6-23-2022 |
| Kms: | 210 | Stop Date: | 6-24-2022 |

Work Order Cost Summary

Hr:

| escription | Quantity Labor Type | Rate | Total |
|-----------------------------------|-------------------------|-------------|----------|
| JOSHUA BOTA | 2.50 RT Shop Mech Blfds | \$52.07 | \$130.18 |
| | | Total Labor | \$130.18 |
| FILTER AIR [2518540C1] | 1.00 Each | \$126.03 | \$126.03 |
| FILTER CAB AIR CV INT [6040856C1] | 1.00 Each | \$36.59 | \$36.59 |
| FILTER FUEL [2515892C91] | 1.00 Each | \$83.98 | \$83.98 |
| OIL FILTER [6040648C1] | 1.00 Each | \$17.54 | \$17.54 |
| O-RING[Custom] | 1.00 Each | \$38.29 | \$38.29 |
| | | Total Parts | \$302.43 |
| | | Total Equip | \$0.00 |
| | | Total Cost | \$432.61 |

| Item ID | Description | Completed By | Reported Hours |
|-----------|-------------|--------------|----------------|
| 58947 | 5K Service | Joshua Bota | 2.50 |
| K service | | | |

| : |
|---|
| |

32401

583

Status: **Serial Number:** Transferred

,quipment:

INTERNATIONAL CV 3T PICKER [4260]

Business Unit:

1HTKTSWM9LH681628

Work Location: Created by:

Blackfalds Shop Oom Jarussirirat

Start Date:

Trucks Heavy

Kms:

210

6-28-2022 Stop Date: 6-29-2022

| Work | Order | Cost | Summary | |
|------|-------|------|---------|--|
|------|-------|------|---------|--|

| Description | Quantity Labor Type | Rate | Total |
|-------------|---------------------|-------------|--------|
| | | Total Labor | \$0.00 |
| | | Total Parts | \$0.00 |
| | | Total Equip | \$0.00 |
| | | Total Cost | \$0.00 |

| Item ID | Description | Completed By | Reported Hours |
|---------|--------------------------------------------------|------------------|----------------|
| 45935 | SOB - HYDRAULIC PUMP AND PTO/ OUTRIGGER SEAL KIT | Oom Jarussirirat | 0.00 |
| 48055 | NDT Inspection - Picker | Oom Jarussirirat | 0.00 |

33454

Transferred

Equipment:

INTERNATIONAL CV 3T PICKER [4260]

Serial Number:

1HTKTSWM9LH681628

Work Location:

Blackfalds Shop

Business Unit:

Trucks Heavy

Created by:

Oom Jarussirirat

Start Date:

Status:

7-26-2022

Kms:

Hr:

210 583 Stop Date:

7-28-2022

Work Order Cost Summary

| Description | Quantity Labor Type | Rate | Tota |
|------------------------------------------------|-------------------------|--------------------|----------|
| JOSHUA BOTA | 2.25 RT Shop Mech Blfds | \$52.07 | \$117.16 |
| | | Total Labor | \$117.16 |
| FILTER AIR [2518540C1] | 1.00 Each | \$127.29 | \$127.29 |
| FILTER CAB AIR CV INT [6040856C1] | 1.00 Each | \$0.01 | \$0.01 |
| FILTER FUEL [2515892C91] | 1.00 Each | \$84.82 | \$84.82 |
| OIL FILTER [6040648C1] | 1.00 Each | \$17.71 | \$17.71 |
| O-RING FOR FUEL FILTER 2515892C91 [2515893C91] | 1.00 Each | \$38.67 | \$38.67 |
| | | Total Parts | \$268.50 |
| | | Total Equip | \$0.00 |
| | | Total Cost | \$385.66 |

| Joshua Bota | 2.25 | |
|-------------------|-------------------------------|--|
| | | |
| PARTS Joshua Bota | 0.00 | |
| | Joshua Bota PARTS Joshua Bota | |

Work Order:

33462

Equipment:

INTERNATIONAL CV 3T PICKER [4260]

Serial Number: Business Unit:

Status:

Transferred
1HTKTSWM9LH681628

Work Location:

Current Equipment Location

Trucks Heavy

Created by:

Nathan Sak

Kms: Hr:

210

583

Start Date:

7-26-2022

Stop Date:

7-26-2022

| /ork Order Cost Summar | y |
|------------------------|---|
|------------------------|---|

| Description | Quantity Labor Type | Rate | Total |
|-------------|------------------------|---------|---------|
| NATHAN SAK | 2.00 RT Shop Tire Tech | \$36.33 | \$72.66 |
| | Tota | l Labor | \$72.66 |
| | Tota | l Parts | \$0.00 |
| | Tota | l Equip | \$0.00 |
| | Tot | al Cost | \$72.66 |

| Item ID | Description | Con | npleted By | Reported Hours |
|---------|---------------|------|------------|----------------|
| | | | | |
| 61466 | Changeover x2 | Nath | nan Sak | 2.00 |

Work Order:

34316

Status:

Transferred

Equipment:

INTERNATIONAL CV 3T PICKER [4260]

Serial Number:

1HTKTSWM9LH681628

Work Location:

Blackfalds Shop

Business Unit:

Trucks Heavy

Created by:

Oom Jarussirirat

Start Date:

8-24-2022

Kms:

Hr:

210 583 **Stop Date:**

8-26-2022

| Description | Quantity Labor Type | Rate | Total |
|------------------------------------------------|-------------------------|--------------------|----------|
| JOSHUA BOTA | 1.00 RT Shop Mech Blfds | \$52.07 | \$52.07 |
| KEVEN GILLOTT | 3.00 RT Shop Mech Rky | \$49.05 | \$147.15 |
| | | Total Labor | \$199.22 |
| FILTER AIR [2518540C1] | 1.00 Each | \$126.13 | \$126.13 |
| FILTER FUEL [2515892C91] | 1.00 Each | \$82.38 | \$82.38 |
| OIL FILTER [6040648C1] | 1.00 Each | \$16.71 | \$16.71 |
| O-RING FOR FUEL FILTER 2515892C91 [2515893C91] | 1.00 Each | \$38.67 | \$38.67 |
| | | Total Parts | \$263.90 |
| | | Total Equip | \$0.00 |
| | | Total Cost | \$463.12 |

| Item ID | Description | Completed By | Reported Hours |
|------------|-----------------------|------------------|----------------|
| 61475 | 5K Service | Joshua Bota | 0.00 |
| 5K service | | | |
| 62902 | 5K Service | Joshua Bota | 4.00 |
| 5K service | | | |
| | | | |
| 63161 | NEED A NEW WINDSHIELD | Oom Jarussirirat | 0.00 |

Work Order: Equipment:

35641

INTERNATIONAL CV 3T PICKER [4260]

Work Location:

Blackfalds Shop

Created by:

Oom Jarussirirat

Kms: Hr:

210 583 Status:

Serial Number:

Start Date:

Stop Date:

Business Unit:

Transferred 1HTKTSWM9LH681628

Trucks Heavy

10-6-2022

10-8-2022

Work Order Cost Summary

| Description | Quantity Labor Type | Rate | Total |
|--------------------------------------------------------------|-------------------------|--------------------|----------|
| CLAYTON BERG | 2.50 RT Shop Mech Blfds | \$52.07 | \$130.18 |
| JOSHUA BOTA | 2.50 RT Shop Mech Blfds | \$52.07 | \$130.18 |
| | | Total Labor | \$260.35 |
| FILTER AIR [2518540C1] | 1.00 Each | \$127.04 | \$127.04 |
| FILTER CAB AIR CV INT [6040856C1] | 1.00 Each | \$30.40 | \$30.40 |
| FILTER FUEL [2515892C91] | 1.00 Each | \$83.36 | \$83.36 |
| Flushface ISO16028 Coupler x Female NPT - 10,000 PSI[Custom] | 4.00 Each | \$16.35 | \$65.40 |
| LIGHT WHITE LICENSE PLATE RESEALABLE [60001] | 1.00 Each | \$4.67 | \$4.67 |
| OIL FILTER [6040648C1] | 1.00 Each | \$19.60 | \$19.60 |
| O-RING FOR FUEL FILTER 2515892C91 [2515893C91] | 1.00 Each | \$38.67 | \$38.67 |
| | | Total Parts | \$369.15 |
| | | Total Equip | \$0.00 |
| | | Total Cost | \$629.50 |

| Item ID | Description | Completed By | Reported Hours | |
|------------|-------------|--------------|----------------|--|
| 64811 | 5K Service | Clayton Berg | 5.00 | |
| 5K service | • | | | |

Work Order: **Equipment:**

37086

INTERNATIONAL CV 3T PICKER [4260]

Work Location: Created by:

Blackfalds Shop Oom Jarussirirat

Kms:

Hr:

210 583 Status:

Serial Number:

Business Unit:

Start Date:

Stop Date:

Transferred 1HTKTSWM9LH681528

Trucks Heavy 11-17-2022

11-18-2022

| | | | l l |
|------------------------------------------------|-------------------------|--------------------|----------|
| Description | Quantity Labor Type | Rate | Total |
| STEPHEN DEWOLFE | 3.00 RT Shop Mech Blfds | \$52.07 | \$156.21 |
| | | Total Labor | \$156.21 |
| FEMCO QUICK DRAIN[Custom] | 1.00 Each | \$35.56 | \$35.56 |
| FILTER AIR [2518540C1] | 1.00 Each | \$127.04 | \$127.04 |
| FILTER CAB AIR CV INT [6040856C1] | 1.00 Each | \$36.51 | \$36.51 |
| FILTER FUEL [2515892C91] | 1.00 Each | \$83.36 | \$83.36 |
| OIL FILTER [6040648C1] | 1.00 Each | \$19.60 | \$19.60 |
| O-RING FOR FUEL FILTER 2515892C91 [2515893C91] | 1.00 Each | \$38.67 | \$38.67 |
| | | | |

| Total Parts | \$340.74 |
|--------------------|----------|
| Total Equip | \$0.00 |
| Total Cost | \$496.95 |

otes:

Unit is at 73,040km.

| Item ID | Description | Completed By | Reported Hours |
|--------------|-------------|-----------------|----------------|
| 67059 | 5K Service | Stephen DeWolfe | 3.00 |
| 5K service . | | | |

Work Order:

38521

Status:

Transferred

Equipment:

INTERNATIONAL CV 3T PICKER [4260]

Serial Number: **Business Unit:**

1HTKTSWM9LH681628

Work Location:

Created by: Kms:

Hr:

Danielle McArthur

210 583

Start Date: Stop Date:

Trucks Heavy

| Work Order Cost Summary | | | |
|----------------------------|---------------------|-------------|--------|
| Description | Quantity Labor Type | Rate | Total |
| | | Total Labor | \$0.00 |
| GLOVER INV 270935 [Custom] | 1.00 Each | \$0.01 | \$0.01 |
| | | Total Parts | \$0.01 |
| | | Total Equip | \$0.00 |
| | | Total Cost | \$0.01 |

| Item ID | Description | Completed By | Reported Hours |
|---------|-------------------------|-------------------|----------------|
| | | | |
| 71137 | 4260 - GLOVER 5-25-2022 | Danielle McArthur | 0.00 |

Work Order:

38902

Status:

Transferred

Equipment:

INTERNATIONAL CV 3T PICKER [4260] Blackfalds Shop

Serial Number:

1HTKTSWM9LH681628

Work Location:

Oom Jarussirirat

Business Unit:

Trucks Heavy

Created by:

210

Start Date:

Stop Date:

Kms: Hr:

583

| Description | Quantity Labor Type Rate | e Total |
|-------------|--------------------------|-----------------|
| | Total Labo | r \$0.00 |
| | Total Parts | s \$0.00 |
| | Total Equip | \$0.00 |
| | Total Cos | t \$0.00 |

| item ID | Description | Completed By | Reported Hours |
|---------|-------------------------------------|------------------|----------------|
| 71750 | HYD LEAKS ISSUE; LH DCV (2 BANKS) | Oom Jarussirirat | 0.00 |

38947

Equipment:

INTERNATIONAL CV 3T PICKER [4260]

Work Location:

Current Equipment Location

Created by:

Carla Merklin

Kms:

210

Hr:

583

Status:

Serial Number:

1HTKTSWM9LH681628

Trucks Heavy

Transferred

Business Unit: Start Date: 1-23-2023

Stop Date:

1-23-2023

Work Order Cost Summary

| Description | Quantity Labor Type | Rate | Total |
|-------------------|-------------------------|--------------------|----------|
| KENDRICK ROBINSON | 7.50 RT Shop Mech Rky | \$49.05 | \$367.88 |
| NEIL FERRIS | 4.00 RT Shop Mech Field | \$59.34 | \$237.36 |
| | | Total Labor | \$605.24 |
| | | Total Parts | \$0.00 |
| | | Total Equip | \$0.00 |
| | | Total Cost | \$605.24 |
| | | | |

| Completed By | Reported Hours |
|-------------------|----------------|
| Brittinni Lockard | 11.50 |
| | |

Work Order:

39265

Equipment:

INTERNATIONAL CV 3T PICKER [4260]

Work Location:

Blackfalds Shop Oom Jarussirirat

Created by: Kms:

210

Hr:

583

Status:

Serial Number:

1HTKTSWM9LH681528 Trucks Heavy

Business Unit:

Start Date:

Stop Date:

2-1-2023

Transferred

2-2-2023

| Description | Quantity Labor Type | Rate | Total |
|------------------------------------------------|-------------------------|--------------------|----------|
| JOSHUA BOTA | 2.50 RT Shop Mech Blfds | \$52.07 | \$130.18 |
| | | Total Labor | \$130.18 |
| FILTER AIR [2518540C1] | 1.00 Each | \$127.14 | \$127.14 |
| FILTER CAB AIR CV INT [6040856C1] | 1.00 Each | \$40.32 | \$40.32 |
| FILTER FUEL [2515892C91] | 1.00 Each | \$84.33 | \$84.33 |
| OIL FILTER [6040648C1] | 1.00 Each | \$20.31 | \$20.31 |
| O-RING FOR FUEL FILTER 2515892C91 [2515893C91] | 1.00 Each | \$38.67 | \$38.67 |
| | | Total Parts | \$310.78 |
| | | Total Equip | \$0.00 |
| | 3 | Total Cost | \$440.96 |

| Item ID | Description | Completed By | Reported Hours | |
|------------|-------------|--------------|----------------|--|
| 71519 | 5K Service | Joshua Bota | 2.50 | |
| 5K service | •• | | | |

Joshua Bota

0.00

69722

5K Service

5K service ...

Work Order: Equipment: 39856

INTERNATIONAL CV 3T PICKER [4260]

Work Location:

Rocky Mountain House Shop

Created by:

Nathan Sak

Kms: Hr: 210 583 Status:

Transferred

Serial Number:

1HTKTSWM9LH681628

Business Unit:

Trucks Heavy 2-21-2023

Start Date: Stop Date:

2-21-2023

Work Order Cost Summary

| Quantity Labor Type | Rate | Total |
|------------------------|------------------------|-----------------------------------------------------------------------------------------|
| 3.00 RT Shop Tire Tech | \$36.33 | \$108.99 |
| | Total Labor | \$108.99 |
| 3.00 Each | \$2.11 | \$6.32 |
| | Total Parts | \$6.32 |
| | Total Equip | \$0.00 |
| | Total Cost | \$115.31 |
| | 3.00 RT Shop Tire Tech | 3.00 RT Shop Tire Tech \$36.33 Total Labor 3.00 Each \$2.11 Total Parts Total Equip |

| Item ID | Description | Completed By | Reported Hours |
|---------|---------------|--------------|----------------|
| 73409 | Changeover x6 | Nathan Sak | 3.00 |

Work Order: Equipment: 41683

INTERNATIONAL CV 3T PICKER [4260]

Work Location:

Blackfalds Shop

Created by:

Oom Jarussirirat

Kms:

210

Hr: 583

Status:

Serial Number:

1HTKTSWM9LH681628

Business Unit:

Trucks Heavy

Transferred

Start Date:

4-24-2023

Stop Date:

4-25-2023

| Description | Quantity Labor Type | Rate | Total |
|------------------------------------------------|---------------------------------------|-------------|----------|
| JOSHUA BOTA | 3.00 RT Shop Mech Blfds | \$52.07 | \$156.21 |
| | | Total Labor | \$156.21 |
| #08 BSPP PONDERED SEAL[Custom] | 4.00 Each | \$0.96 | \$3.84 |
| FILTER AIR [2518540C1] | 1.00 Each | \$138.41 | \$138.41 |
| FILTER CAB AIR CV INT [6040856C1] | 1.00 Each | \$40.32 | \$40.32 |
| FILTER FUEL [2515892C91] | 1.00 Each | \$91.57 | \$91.57 |
| OIL FILTER [6040648C1] | 1.00 Each | \$23.42 | \$23.42 |
| O-RING FOR FUEL FILTER 2515892C91 [2515893C91] | 1.00 Each | \$41.32 | \$41.32 |
| | | Total Parts | \$338.89 |
| | | Total Equip | \$0.00 |
| | · · · · · · · · · · · · · · · · · · · | Total Cost | \$495.10 |

| Item ID | Description | Completed By | Reported Hours |
|---------|-------------|--------------|----------------|

| 76167 5K service | 5K Service | Oom Jarussirirat | 0.00 | |
|---------------------|----------------------------------------------|-------------------------|----------------|----------|
| | | | | |
| 72822 5K service | 5K Service | Joshua Bota | 3.00 | |
| | | | | |
| Work Order: | 43723 | Status: | Transferred | |
| Equipment: | INTERNATIONAL CV 3T PICKER [4260] | Serial Number: | 1HTKTSWM9LH681 | .628 |
| Work Locatio | | Business Unit: | Trucks Heavy | |
| Created by: | Oom Jarussirirat | Start Date: | 6-29-2023 | |
| Kms: Hr: | 210 583 | Stop Date: | 6-30-2023 | |
| Work Order C | ost Summary | | | |
| Description | | Quantity Labor Type | Rate | Total |
| HUNTER BOTA | | 2.00 RT Shop Mech Blfds | \$52.07 | \$104.14 |
| JOSHUA BOTA | | 3.00 RT Shop Mech Blfds | \$52.07 | \$156.21 |
| | | | Total Labor | \$260.35 |
| FILTER AIR (25 | 18540C1] | 1.00 Each | \$132.86 | \$132.86 |
| FILTER CAB AI | R CV INT [6040856C1] | 1.00 Each | \$42.90 | \$42.90 |
| FILTER FUEL (2 | 2515892C91] | 1.00 Each | \$89.01 | \$89.01 |
| OIL FILTER [60 | 40648C1] | 1.00 Each | \$24.92 | \$24.92 |
| O-RING FOR FL | JEL FILTER 2515892C91 [2515893C91] | 1.00 Each | \$41.32 | \$41.32 |
| VENDOR BUILT | HOSE [HOSE] | 1.00 Each | \$55.77 | \$55.77 |
| | | | Total Parts | \$386.78 |
| | | | Total Equip | \$0.00 |
| | | | Total Cost | \$647.13 |
| Item ID | Description | Completed By | Reported Hours | |
| 80443 | 5K Service | Oom Jarussirirat | 0.00 | |
| 5K service | | | | |
| 80444 | NDT Inspection - Picker | Oom Jarussirirat | 0.00 | |
| 77890 | 5K Service | Oom Jarussirirat | 0.00 | |
| 5K service | | | | |
| 80446 | LEAKING HYD HOSE; RH OUT RIGGER (TOO LONG) | Joshua Bota | 1.00 | |
| | | | | |
| 79807 | 5K Service | Joshua Bota | 4.00 | |
| 5K service | | | | • |
| 69469 | NDT Inspection - Picker | Oom Jarussirirat | 0.00 | |
| | | Com sai dasii ii de | | |
| | | | | |

J

j

43838

Equipment:

INTERNATIONAL CV 3T PICKER [4260]

Created by:

Nathan Sak

Kms:

210 583

Hr:

Current Equipment Location

Serial Number:

Status:

Transferred

1HTKTSWM9LH681628

Business Unit:

Trucks Heavy

Start Date:

6-29-2023

Stop Date:

6-29-2023

Work Order Cost Summary

| Quantity Labor Type | Rate | Total |
|------------------------|--------------------|-----------------------------------------------------------------------|
| 5.50 RT Shop Tire Tech | \$36.33 | \$199.82 |
| | Total Labor | \$199.82 |
| <u> </u> | Total Parts | \$0.00 |
| | Total Equip | \$0.00 |
| | Total Cost | \$199.82 |
| | | 5.50 RT Shop Tire Tech \$36.33 Total Labor Total Parts Total Equip |

| Item ID | Description | Completed By | Reported Hours |
|---------|---------------------------|--------------|----------------|
| 80628 | Wash and service on truck | Nathan Sak | 5.50 |

Work Order: quipment:

44322

INTERNATIONAL CV 3T PICKER [4260]

Blackfalds Shop

Work Location: Created by:

Oom Jarussirirat

210 Kms: 583 Hr:

Status:

Serial Number:

Transferred 1HTKTSWM9LH681628

Business Unit:

Start Date: Stop Date:

Trucks Heavy 8-23-2023 11-2-2023

Work Order Cost Summary

| Description | Quantity Labor Type | Rate | Total |
|---------------------|-------------------------|-------------|------------|
| HUNTER BOTA | 1.50 RT Shop Mech Blfds | \$52.07 | \$78.11 |
| WAYNE KIRK | 5.00 RT Shop Mech Blfds | \$52.07 | \$260.35 |
| | | Total Labor | \$338.46 |
| HOOD REPAIR[Custom] | 1.00 Each | \$4,830.00 | \$4,830.00 |
| | | Total Parts | \$4,830.00 |
| | | Total Equip | \$0.00 |
| | | Total Cost | \$5,168.46 |

| Item ID | Description | Completed By | Reported Hours |
|---------|-------------------------------------------------------------------------|---------------|----------------|
| 81537 | CRACKED HOOD - INCIDENT 23IN-230601-1-ED-Cameron Ewert backed into unit | Nick Depratto | 6.50 |

Work Order: **Equipment:**

INTERNATIONAL CV 3T PICKER [4260]

Work Location: Created by:

Current Equipment Location Nathan Sak

Status:

Transferred

Serial Number: Business Unit:

1HTKTSWM9LH681628 Trucks Heavy

Start Date:

7-31-2023

| Kms: | 210 | Stop Date: | 7-31 - 2023 | |
|--------------------------|----------------------------------------------------------|----------------------------|-----------------------------|--------------------|
| łr: | 583 | | | |
| Vork Order Cost Su | mmarv | | | |
| Description | ······································ | Quantity Labor Type | Rate | Tot |
| IATHAN SAK | | 4.50 RT Shop Tire Te | ch \$36.33 | \$163. |
| · | | | Total Labor | \$163. |
| | | | Total Parts | \$0.0 |
| | | | Total Equip | \$0. |
| | | | Total Cost | \$163. |
| item ID Desci | ription | Completed | By Reported Hours | |
| 32248 Pickup | hood | Nathan Sak | 4.50 | |
| | | | | |
| Work Order: | 45906 | Status: | Transferred | |
| Equipment: | INTERNATIONAL CV 3T PICKER [4260] | Serial Num | | 528 |
| Vork Location: | Blackfalds Shop | Business U | | |
| Created by: | Oom Jarussirirat | Start Date: | 9-6-2023 | |
| Cms: | 210 | Stop Date: | 9-7-2023 | |
| lr: | 583 | | | |
| Nork Order Cost Su | mmary | | | |
| Description | | Quantity Labor Type | | Tot |
| OSHUA BOTA | | 5.50 RT Shop Mech B | lfds \$52.07 Total Labor | \$286.3 |
| TLTER AIR [25185400 | 21) | 1.00 Each | \$137.44 | \$286.3 \$137.4 |
| TILTER CAB AIR CV IN | | 1.00 Each | \$41.60 | \$41.6 |
| TILTER FUEL [2515892 | | 1.00 Each | \$89.38 | \$89.3 |
| OIL FILTER [60406480 | - [21] | 1.00 Each | \$25.17 | \$25.1 |
| - | | | Total Parts | \$293.5 |
| | | | Total Equip | \$0.0 |
| | | | Total Cost | \$579.9 |
| tem ID Descr | iption | Completed | By Reported Hours | |
| | | | | |
| 31507 5K Ser | vice | Oom Jarussir | irat 0.00 | |
| Y consico | | | | |
| K service | | | | |
| | S ISSUE; LICNESE PLATE LIGHT | Joshua Bota | 0.50 | |
| 4321 LIGHT | S ISSUE; LICNESE PLATE LIGHT CE BRAKE PADS AS NECESSARY | Joshua Bota Joshua Bota | 0.50 3.00 | |
| 4321 LIGHT 4298 REPLA | | | | |
| 34298 REPLA | CE BRAKE PADS AS NECESSARY AT 19 MM (JUST THE LINNING) | | | |

47497

___quipment:

INTERNATIONAL CV 3T PICKER [4260]

Work Location:

Current Equipment Location

Created by:

Nathan Sak

Kms:

210

Hr:

583

Status:

Serial Number:

Transferred 1HTKTSWM9LH681628

Business Unit:

Trucks Heavy

Start Date: Stop Date:

10-20-2023 10-20-2023

Work Order Cost Summary

| Description | Quantity Labor Type Rate | Total |
|-------------|--------------------------------|---------|
| NATHAN SAK | 1.00 RT Shop Tire Tech \$36.33 | \$36.33 |
| | Total Labor | \$36.33 |
| | Total Parts | \$0.00 |
| | Total Equip | \$0.00 |
| | Total Cost | \$36.33 |

| Item ID | Description | Completed By | Reported Hours |
|---------|-------------------------|--------------|----------------|
| 87541 | Fix compressor oil leak | Nathan Sak | 1.00 |

York Order: Equipment:

48024

INTERNATIONAL CV 3T PICKER [4260] Blackfalds Shop

Work Location: Created by:

Oom Jarussirirat

210 Kms: 583 Hr:

Status:

Serial Number:

Business Unit: Start Date:

Stop Date:

Transferred

1HTKTSWM9LH681628

Trucks Heavy 11-6-2023 11-8-2023

| Description | Quantity Labor Type | Rate | Total |
|-----------------------------------------------|-------------------------|-------------|----------|
| ERIC SCHADT | 5.00 RT Shop Mech Blfds | \$52.07 | \$260.35 |
| | | Total Labor | \$260.35 |
| FILTER AIR [2518540C1] | 1.00 Each | \$138.55 | \$138.55 |
| FILTER CAB AIR [6040856C1] | 1.00 Each | \$56.40 | \$56.40 |
| FILTER FUEL [2515892C91] | 1.00 Each | \$89.94 | \$89.94 |
| FILTER LUBE [6040648C1] | 1.00 Each | \$25.29 | \$25.29 |
| FILTER ORING (FILTER 2515892C91) [2515893C91] | 1.00 Each | \$41.32 | \$41.32 |
| SEAL KIT [4974042] | 1.00 Each | \$41.10 | \$41.10 |
| | | Total Parts | \$392.61 |
| | | Total Equip | \$0.00 |
| | | Total Cost | \$652.96 |

| Item ID | Description | Completed By | Reported Hours |
|---------|-------------|--------------|----------------|
| | | | |
| 86989 | 5K Service | Eric Schadt | 4.75 |

Equipment:

LIGHTS ISSUE Eric Schadt 88455 0.25 **Work Order:** 49511 Status: Transferred **Equipment: INTERNATIONAL CV 3T PICKER [4260] Serial Number:** 1HTKTSWM9LH681628 **Work Location: Business Unit: Current Equipment Location** Trucks Heavy Created by: Nathan Sak **Start Date:** 12-19-2023 210 Kms: **Stop Date:** 12-19-2023 583 Hr: **Work Order Cost Summary** Description **Quantity Labor Type** Rate Total NATHAN SAK 2.00 RT Shop Tire Tech \$36.33 \$72.66 **Total Labor** \$72.66 **Total Parts** \$0.00 Total Equip \$0.00 **Total Cost** \$72.66 Item ID Description Completed By Reported Hours 90940 Fix toolbox Nathan Sak 2.00 Work Order: 50773 Status: Transferred **Equipment: INTERNATIONAL CV 3T PICKER [4260] Serial Number:** 1HTKTSWM9LH681628 **Business Unit: Work Location: Blackfalds Shop** Trucks Heavy Created by: Oom Jarussirirat **Start Date:** 2-7-2024 2-23-2024 Kms: 210 Stop Date: Hr: 583 **Work Order Cost Summary** Description Rate **Quantity Labor Type** Total Total Labor \$0.00 **Total Parts** \$0.00 Total Equip \$0.00 **Total Cost** \$0.00 **Completed By Reported Hours** Item ID Description 93009 VAMX AIR COMP STUCK ON HEAT UP CYCLE AND WON'T BUILD AIR Oom Jarussirirat 0.00 **Work Order:** 50798 Status: Transferred

INTERNATIONAL CV 3T PICKER [4260]

Serial Number:

1HTKTSWM9LH681628

Work Location:

Current Equipment Location

Created by:

Nathan Sak

Kms: Hr:

210

Stop Date:

Trucks Heavy

Start Date:

Business Unit:

2-7-2024 2-7-2024

583

Work Order Cost Summary

| Description | Quantity Labor Type | Rate | Total |
|-------------|------------------------|-------------|---------|
| NATHAN SAK | 2.00 RT Shop Tire Tech | \$36.33 | \$72.66 |
| | | Total Labor | \$72.66 |
| | | Total Parts | \$0.00 |
| | | Total Equip | \$0.00 |
| | | Total Cost | \$72.66 |

| Item ID | Description | Completed By | Reported Hours |
|---------|---------------------------|--------------|----------------|
| | | | |
| 93051 | Work on compression issue | Nathan Sak | 2.00 |

Work Order:

50826

583

Status:

Transferred

Equipment:

INTERNATIONAL CV 3T PICKER [4260]

Serial Number: Business Unit:

1HTKTSWM9LH681628

Work Location:

Created by:

Jeremy Detema

Start Date:

Trucks Heavy

210 Kms:

Stop Date:

Work Order Cost Summary

| Description | Quantity Labor Type | Rate | Total |
|------------------------------------------------|---------------------|-------------|------------|
| | | Total Labor | \$0.00 |
| 18X18 IN MESH SAFETY FLAG [4989314] | 4.00 Each | \$4.29 | \$17.18 |
| AME-11010-022[Custom] | 1.00 Each | \$136.50 | \$136.50 |
| AME-11010-050[Custom] | 2.00 Each | \$112.50 | \$225.00 |
| gouger 1-1/4x3/8 [11604] | 10.00 Each | \$41.29 | \$412.90 |
| TALON SET SCREW (BEAD BLASTER NATE) [FL10115] | 20.00 Each | \$11.15 | \$223.00 |
| WHEEL NUT FLANGED CAP [R009020] | 5.00 Each | \$4.12 | \$20.61 |
| | | Total Parts | \$1,035.19 |
| | | Total Equip | \$0.00 |
| | | Total Cost | \$1,035.19 |

| Item ID | Description | Completed By | Reported Hours |
|---------|-------------------------------|---------------|----------------|
| 93088 | Direct bill - 4260-02/08/2024 | Jeremy Detema | 0.00 |

Work Order:

51087

Equipment: Work Location: **INTERNATIONAL CV 3T PICKER [4260]**

Blackfalds Shop

Status:

Transferred

Serial Number:

1HTKTSWM9LH681628

Business Unit:

Trucks Heavy

Created by:

Oom Jarussirirat

Kms: Hr:

210

583

Start Date: Stop Date:

2-22-2024

2-24-2024

| Description | Quantity Labor Type | Rate | Total |
|--------------------------------------------------|--------------------------|-------------|------------|
| DARCY PLATT | 32.25 RT Shop Mech Blfds | \$52.07 | \$1,679.26 |
| 2" CLAMD EVHALIST MADMON (4119642C2) | 1 00 Each | Total Labor | \$1,679.26 |
| 3" CLAMP, EXHAUST, MARMON [4118642C3] | 1.00 Each | \$42.82 | \$42.82 |
| CLAMP, EXHAUST PIPE, 3.5" [4086947C1] | 1.00 Each | \$21.84 | \$21.84 |
| DEF LINE [4088994C1] | 1.00 Each | \$241.98 | \$241.98 |
| EATON 3300 SERIES PTO SEAL KIT[Custom] | 1.00 Each | \$168.18 | \$168.18 |
| EXHAUST SUPPORT BRACKET [4117884C1] | 1.00 Each | \$10.98 | \$10.98 |
| FILTER AIR [2518540C1] | 1.00 Each | \$139.56 | \$139.56 |
| FILTER CAB AIR [6040856C1] | 1.00 Each | \$51.83 | \$51.83 |
| FILTER FUEL [2515892C91] | 1.00 Each | \$90.51 | \$90.51 |
| FILTER HYDRAULIC {FLG: ST1757} [9824499] | 1.00 Each | \$56.28 | \$56.28 |
| FILTER HYDRAULIC SPIN-ON {DON: P550387} [HF6720] | 1.00 Each | \$18.80 | \$18.80 |
| FILTER LUBE [6040648C1] | 1.00 Each | \$25.29 | \$25.29 |
| FILTER ORING (FILTER 2515892C91) [2515893C91] | 1.00 Each | \$41.77 | \$41.77 |
| GASKET [22P151] | 1.00 Each | \$13.34 | \$13.34 |
| GASKET, EXHAUST [7506241C1] | 1.00 Each | \$6.04 | \$6.0 |
| GASKET, EXHAUST FLANGE [4407137C1] | 1.00 Each | \$19.79 | \$19.79 |
| LED YELLOW LIGHT KIT [33075Y] | 1.00 Each | \$24.44 | \$24.44 |
| LIGHT WHITE LICENSE PLATE RESEALABLE [60001] | 1.00 Each | \$4.83 | \$4.83 |
| LOCKRING [379555] | 1.00 Each | \$20.06 | \$20.06 |
| OIL SEAL - 2.627 X 1.750 [28P267] | 1.00 Each | \$57.27 | \$57.27 |
| SHOCK ABSORBER [4109548C2] | 1.00 Each | \$76.59 | \$76.59 |
| SNAP RING [379746] | 1.00 Each | \$3.31 | \$3.31 |
| TANDEM PUMP [P17(52)+11(11)11TANDEM] | 1.00 Each | \$2,875.28 | \$2,875.28 |
| | | Total Parts | \$4,010.79 |
| | | Total Equip | \$0.00 |
| · · · · · · · · · · · · · · · · · · · | ··· | Total Cost | \$5,690.05 |

| Item ID | Description | Completed By | Reported Hours | |
|------------|-----------------------------|------------------|----------------|--|
| 93977 | REPLACE SHOCK AS NECESSARFY | Darcy Platt | 0.50 | |
| 90681 | 5K Service | Oom Jarussirirat | 0.00 | |
| 5K service | | Oom Jarussirirat | 0.00 | |

Darcy Platt

3.00

| 93681 | HYD LEAKS ISSUE | Darcy Platt | 4.00 | |
|-----------------------|--------------------------------|-------------|-------|---|
| \smile | | | | |
| 92341 5K service . | 5K Service | Darcy Platt | 4.50 | |
| 93739 | PTO OUT PUT SHAFT SEAL LEAKING | Darcy Platt | 20.25 | _ |

Work Order: Equipment:

Work Location: Created by: 51391

INTERNATIONAL CV 3T PICKER [4260]

/ 3T PICKER [4260] Se

Current Equipment Location
Carla Merklin

Kms: 210 Hr: 583 Status: Transferred
Serial Number: 1HTKTSWM9LH681628

Serial Number: Business Unit:

 Start Date:
 2-23-2024

 Stop Date:
 2-23-2024

Trucks Heavy

Work Order Cost Summary

| Description | Quantity Labor Type | Rate | Total |
|-------------------------|-------------------------|--------------------|----------|
| JOHN BARGEN | 3.50 RT Shop Mech Field | \$59.34 | \$207.69 |
| | | Total Labor | \$207.69 |
| ANTENNA BRACKET [AT334] | 1.00 Each | \$20.00 | \$20.00 |
| • / | | Total Parts | \$20.00 |
| | | Total Equip | \$0.00 |
| | | Total Cost | \$227.69 |

| Item ID | Description | Completed By | Reported Hours |
|---------------|---------------------------------------------------|-----------------------|-------------------|
| 94130 | 4260 - INSTALL PUMP/FILL HYD OIL, INSTALL EXHAUST | Andrew Matus | 3.50 |
| Work Order: | 52932 | Status: | Closed |
| Equipment: | INTERNATIONAL CV 3T PICKER [4260] | Serial Number: | 1HTKTSWM9LH681628 |
| Work Location | n: Blackfalds Shop | Business Unit: | Trucks Heavy |
| Created by: | Oom Jarussirirat | Start Date: | 4-17-2024 |
| Kms: | 210 | Stop Date: | 4-18-2024 |
| Hr: | 583 | | |

| Description | Quantity Labor Type | Rate | Total |
|-----------------------------------------------------|-------------------------|-------------|----------|
| HUNTER BOTA | 2.00 RT Shop Mech Blfds | \$52.07 | \$104.14 |
| WAYNE KIRK | 2.50 RT Shop Mech Blfds | \$52.07 | \$130.18 |
| • | | Total Labor | \$234.32 |
| FEMCO 45 DEG SB DRAIN TUBE [CD2049] | 1.00 Each | \$34.80 | \$34.80 |
| FEMCO SB DRAIN HOSE INTERNATIONAL CV5154X4 [CD2001] | 1.00 Each | \$24.48 | \$24.48 |
| FILTER AIR [2518540C1] | 1.00 Each | \$148.27 | \$148.27 |
| | | | |

| Description NATHAN SAK | | Quantity 2.75 RT | Shop Tire Tech | \$36.33 | \$99. |
|----------------------------------------|----------------------------------------|---------------------|-------------------------------|---------------------------|-------------|
| Work Order Cost S | ummary | O | Labor Time | Rate | Tot |
| | | | | | |
| Hr: | 583 | | • | | |
| created by: (ms: | 210 | | Stop Date: | 4-17-2024 | |
| vork Location: Created by: | Current Equipment Location Nathan Sak | | Start Date: | 4-17-2024 | |
| iquipment: Vork Location: | INTERNATIONAL CV 3T PICKER [4260] | | Serial Number: Business Unit: | Trucks Heavy | 20 |
| Vork Order: | 53257 | | Status: Serial Number: | Closed 1HTKTSWM9LH6815 | :20 |
| | | | | | |
| 7688 Was | h Truck | | Nathan Sak | 1.00 | |
| tem ID Des | cription | <u> </u> | Completed By | Reported Hours | |
| | | | | | |
| | | | | Total Cost | \$36 |
| | | | | Total Equip | \$0 \$0 |
| | | | | Total Parts | \$36 \$0 |
| NATHAN SAK | | 1.00 RT | Shop Tire Tech | \$36.33 Total Labor | \$36 |
| Description | | | Labor Type | Rate | To |
| Work Order Cost S | ummary | | | | |
| łr: | 583 | | | | |
| Kms: | 210 | | Stop Date: | 4-17-2024 | |
| Created by: | Nathan Sak | | Start Date: | 4-17-2024 | |
| Vork Location: | Current Equipment Location | | Business Unit: | Trucks Heavy | |
| quipment: | INTERNATIONAL CV 3T PICKER [4260] | | Serial Number: | 1HTKTSWM9LH681 | 28 |
| Vork Order: | 53237 | | Status: | Closed | |
| N SELVICE | | . | | | |
| 5710 5K S | ervice | | Wayne Kirk | 3.50 | |
| 7203 AIR | CCOMPRESSOR SERVICE | | Wayne Kirk | 1.00 | |
| tem ID Des | cription | | Completed By | Reported Hours | |
| _ | | | | Total Cost | \$1,022. |
| | | | | Total Equip | \$0 |
| | | | . — | Total Parts | \$787 |
| PRED 40/60 500HR SERVICE KIT [A700156] | | 1.00 Each | | \$370.00 | \$370 |
| ILTER ORING (FILT | ER 2515892C91) [2515893C91] | 1.00 Each | | \$41.77 | \$41 |
| ILTER LUBE [60406 | 48C1] | 1.00 Each | | \$25.29 | \$25 |
| revenue lesase | 92C91] | 1.00 Each | | \$90.51 | \$90 |
| FILTER FUEL (25158 | | | | | Į. |

| Total Labor | \$99.91 |
|--------------------|---------|
| Total Parts | \$0.00 |
| Total Equip | \$0.00 |
| Total Cost | \$99.91 |

| Item ID | Description | Completed By | Reported Hours |
|---------|-------------------|--------------|----------------|
| | | | |
| 97717 | Help with Service | Nathan Sak | 2.75 |

53280

Equipment: INTERNATIONAL CV 3T PICKER [4260]

Work Location: Created by: Blackfalds Shop
Oom Jarussirirat

Kms: 210 **Hr:** 583

Status:

Serial Number:

Business Unit:

Start Date:

Stop Date:

Closed

1HTKTSWM9LH681628

Trucks Heavy 4-18-2024 4-19-2024

Work Order Cost Summary

| Description | Quantity Labor Type | Rate | Total |
|-------------|-------------------------|--------------------|---------|
| WAYNE KIRK | 1.00 RT Shop Mech Bifds | \$52.07 | \$52.07 |
| | | Total Labor | \$52.07 |
| | | Total Parts | \$0.00 |
| | | Total Equip | \$0.00 |
| | | Total Cost | \$52.07 |

| Item ID | Description | Completed By | Reported Hours |
|---------------------|--------------------------|------------------|----------------|
| 97656 5K service | 5K Service | Oom Jarussirirat | 0.00 |
| | | | |
| 97745 | AIR COMP OIL LEAKS ISSUE | Oom Jarussirirat | 1.00 |

Work Order: Equipment: 53882

INTERNATIONAL CV 3T PICKER [4260]

Work Location: Created by: Current Equipment Location Brittinni Lockard

Kms: 210 Hr: 583 Status: Closed

Serial Number: 1HTKTSWM9LH681628

Business Unit: Trucks Heavy
Start Date: 5-7-2024
Stop Date: 5-7-2024

| Description | Quantity Labor Type Rat | e Total |
|-------------|--------------------------------|---------------------|
| LEVI LOOMIS | 2.00 RT Shop Mech Field \$59.3 | 4 \$118.68 |
| ~ | Total Labo | or \$118.68 |
| | Total Pari | ∷s \$0.00 |
| | Total Equi | p \$0.00 |
| | Total Cos | s t \$118.68 |

| tem ID E | Description | | | Completed By | Reported Hours | |
|-----------------------------------------------|----------------|-----------------------------------|-----------|-----------------------|-------------------------|------------------|
| 8904 4 | 4260 - BACK UI | CAMERA | | Carla Merklin | 2.00 | |
| | | | | | | |
| Vork Order: | | 54771 | | Status: | Closed | |
| quipment: | | INTERNATIONAL CV 3T PICKER [4260] | | Serial Number: | 1HTKTSWM9LH6816 | 28 |
| Vork Location: | : | Blackfalds Shop | | Business Unit: | Trucks Heavy | |
| reated by: | | Oom Jarussirirat | | Start Date: | 6-10-2024 | |
| (ms: | | 210 | | Stop Date: | 6-14-2024 | |
| lr: | | 583 | | | | |
| Vork Order Co | st Summary | | Quantita | . Labar Tima | | |
| Description LAYTON BERG | | | | Labor Type | Rate | Tot |
| DARCY PLATT | | | 6.50 RT | Shop Mech Blfds | \$52.07 \$52.07 | \$338.4 |
| VAYNE KIRK | | | 1.50 RT | Shop Mech Blfds | \$52.07 | \$78. |
| VATING KIKK | | | 4.50 RT | Shop Mech Blfds | \$52.07 | \$234. |
| ILTER AIR [2518 | 8540C11 | | 1.00 Each | | Total Labor \$148.27 | \$650. \$148. |
| ILTER CAB AIR | - | | 1.00 Each | | \$146.27 \$50.99 | \$146. \$50. |
| ILTER FUEL [25] | | | 1.00 Each | | \$86.86 | \$86. |
| | | | 1.00 Each | | \$25.29 | \$25. |
| FILTER ORING (FILTER 2515892C91) [2515893C91] | | | 1.00 Each | | \$41.77 | \$ 41 . |
| | | | | | Total Parts | \$353. |
| | | | | | Total Equip | \$0. |
| | | | · - | | Total Cost | \$1,004. |
| tem ID I | Description | unangu. | | Completed By | Reported Hours | |
| 00550 I | INSTALLED HO | OD; PAINTING | | Oom Jarussirirat | 6.50 | |
| 00392 F | R & I (REMOV | ED AND INSTALLED) HOOD; PAINTING | | Wayne Kirk | 3.00 | |
| 9593 5 | 5K Service | | | Wayne Kirk | 3.00 | |
| K service | | | | ····· | | |
| | | | | | | |
| Vork Order: | | 56189 | | Status: | Closed | |
| quipment: | | INTERNATIONAL CV 3T PICKER [4260] | | Serial Number: | 1HTKTSWM9LH681 | 528 |
| Vork Location: | • | Blackfalds Shop | | Business Unit: | Trucks Heavy | |
| reated by: | | Oom Jarussirirat | | Start Date: | 7-19-2024 | |
| (ms: | | 210 | | Stop Date: | 7-20-2024 | |
| • | | 583 | | | | |
| ir: | | | | | | |
| ir: | st Summary | | | | | |

| JOSHUA BOTA | 3.00 RT Shop Mech Blfds | \$52.07 | \$156.21 |
|-----------------------------------------------|-------------------------|-------------|---------------------|
| | | Total Labor | \$156.21 |
| COVER TOP SMALL [2111100004080] | 2.00 Each | \$20.90 | \$41.80 |
| SILTER AIR [2518540C1] | 1.00 Each | \$158.94 | \$158.94 |
| FILTER CAB AIR [6040856C1] | 1.00 Each | \$50.79 | \$50.7 9 |
| FILTER FUEL [2515892C91] | 1.00 Each | \$82.97 | \$82.97 |
| FILTER LUBE [6040648C1] | 1.00 Each | \$26.94 | \$26.94 |
| FILTER ORING (FILTER 2515892C91) [2515893C91] | 1.00 Each | \$35.59 | \$35.59 |
| LED H11 SET OF 2 [LEDH11] | 1.00 Each | \$43.91 | \$43.91 |
| | | Total Parts | \$440.94 |
| | | Total Equip | \$0.00 |
| | | Total Cost | \$597.15 |

| Item ID | Description | Completed By | Reported Hours |
|------------|-------------|--------------|----------------|
| 101676 | 5K Service | Joshua Bota | 3.00 |
| 5K service | | | |

57665

Status:

Closed

Equipment:

INTERNATIONAL CV 3T PICKER [4260]

Serial Number:

1HTKTSWM9LH681628

Work Location:

Blackfalds Shop

Business Unit:

Trucks Heavy

Created by:

Oom Jarussirirat

Start Date:

9-4-2024

wikms:

Hr:

210 583 Stop Date:

9-5-2024

| Description | Quantity Labor Type | Rate | Total |
|-------------------------------------------------------|-------------------------|--------------------|----------|
| DARCY PLATT | 1.00 RT Shop Mech Bifds | \$52.07 | \$52.07 |
| JOSHUA BOTA | 6.00 RT Shop Mech Blfds | \$52.07 | \$312.42 |
| | | Total Labor | \$364.49 |
| MOLEX MX150 8 PIN CONNECTOR KIT [84928314] | 1.00 Each | \$133.68 | \$133.68 |
| MX150, 14-16GA FEMALE TERMINALS [330122001] | 8.00 Each | \$0.75 | \$6.00 |
| MX150, 8 PIN FEMALE CONNECTOR *SEE NOTES* [334724880] | 1.00 Each | \$5.32 | \$5.32 |
| MX150, CAVITY PLUGS [343454001] | 4.00 Each | \$0.77 | \$3.08 |
| | | Total Parts | \$148.08 |
| | _ | Total Equip | \$0.00 |
| | | Total Cost | \$512.57 |

| Item ID | Description | Completed By | Reported Hours |
|-------------|-----------------------|------------------|----------------|
| 103349 | 5K Service | Oom Jarussirirat | 0.00 |
| K service . | | | |
| <i>-</i> | | | |
| 105410 | TRANSFER CASE OIL LOW | Oom Jarussirirat | 0.00 |
| 104902 | 5K Service | Oom Jarussirirat | 4.00 |

| | ISSUE; DS HEAD LAMP & LICENSE PLATE LIGHT | | Darcy Platt | 3.00 | |
|---------------------------------------------------------------------------------------------------------|------------------------------------------------------------------|-----------------------|------------------------------------------------------|-----------------------------------------------------------------------------------|----------------------------------|
| | | | | | - |
| Nork Order: | 57874 | | Status: | Closed | |
| Equipment: | INTERNATIONAL CV 3T PICKER [4260] | | Serial Number: | 1HTKTSWM9LH6816 | 28 |
| Nork Location: | Blackfalds Shop | | Business Unit: | Trucks Heavy | |
| Created by: | Nathan Sak | | Start Date: | 9-5-2024 | |
| Kms: | 210 | | Stop Date: | 9-5-2024 | |
| łr: | 583 | | | | _ |
| Vork Order Cost Sum | mary | | | | |
| Description NATHAN SAK | | | Labor Type | Rate | Total |
| ANC NAITHN | | 1.50 RT | Shop Tire Tech | \$36.33 | \$54.5 |
| | | | | Total Labor | \$54.5 |
| | | | | Total Parts | \$0.0 |
| | | | | Total Equip Total Cost | \$0.0 |
| | | | | I otal Cost | \$54.5 |
| tem ID Descrip | otion | | Completed By | Reported Hours | |
| | | | | | - |
| .05812 Changed | over Steers | | Nathan Sak | 1.50 | |
| | | | | | |
| | | | | | |
| Work Order: | 58205 | | Status: | Closed | |
| Work Order: Equipment: | 58205 INTERNATIONAL CV 3T PICKER [4260] | | Status: Serial Number: | Closed 1HTKTSWM9LH6816 | 28 |
| Equipment: | | | | | 28 |
| | | | Serial Number: | 1HTKTSWM9LH6816 | 28 |
| equipment: Work Location: Created by: | INTERNATIONAL CV 3T PICKER [4260] | | Serial Number: Business Unit: | 1HTKTSWM9LH6816 | 28 |
| equipment: Work Location: Created by: Kms: | INTERNATIONAL CV 3T PICKER [4260] Sienna Campbell | | Serial Number: Business Unit: Start Date: | 1HTKTSWM9LH6816 | 28 |
| Equipment: Work Location: Created by: Kms: Hr: Work Order Cost Sum | INTERNATIONAL CV 3T PICKER [4260] Sienna Campbell 210 583 | Quantify | Serial Number: Business Unit: Start Date: Stop Date: | 1HTKTSWM9LH6816 Trucks Heavy | |
| equipment: Vork Location: Created by: Kms: Hr: Vork Order Cost Sum | INTERNATIONAL CV 3T PICKER [4260] Sienna Campbell 210 583 | Quantity | Serial Number: Business Unit: Start Date: | 1HTKTSWM9LH6816 Trucks Heavy Rate | Tota |
| Equipment: Work Location: Created by: Kms: Hr: Work Order Cost Sum Description | INTERNATIONAL CV 3T PICKER [4260] Sienna Campbell 210 583 | | Serial Number: Business Unit: Start Date: Stop Date: | 1HTKTSWM9LH6816 Trucks Heavy Rate Total Labor | Tota \$0.0 |
| iquipment: Vork Location: Created by: Kms: Hr: Vork Order Cost Sum Description | INTERNATIONAL CV 3T PICKER [4260] Sienna Campbell 210 583 | Quantity 0.00 Each | Serial Number: Business Unit: Start Date: Stop Date: | 1HTKTSWM9LH6816 Trucks Heavy Rate Total Labor \$3,047.09 | **Tota |
| iquipment: Vork Location: Created by: Kms: Hr: Vork Order Cost Sum Description | INTERNATIONAL CV 3T PICKER [4260] Sienna Campbell 210 583 | | Serial Number: Business Unit: Start Date: Stop Date: | 1HTKTSWM9LH6816 Trucks Heavy Rate Total Labor \$3,047.09 Total Parts | **Tota |
| equipment: Vork Location: Created by: Kms: Hr: Vork Order Cost Sum | INTERNATIONAL CV 3T PICKER [4260] Sienna Campbell 210 583 | | Serial Number: Business Unit: Start Date: Stop Date: | 1HTKTSWM9LH6816 Trucks Heavy Rate Total Labor \$3,047.09 Total Parts Total Equip | \$0.0 \$0.0 \$0.0 |
| quipment: Vork Location: Created by: Kms: Ir: Vork Order Cost Sum Description | INTERNATIONAL CV 3T PICKER [4260] Sienna Campbell 210 583 | | Serial Number: Business Unit: Start Date: Stop Date: | 1HTKTSWM9LH6816 Trucks Heavy Rate Total Labor \$3,047.09 Total Parts | \$0.0 \$0.0 \$0.0 \$0.0 |
| equipment: Work Location: Created by: Kms: Hr: Work Order Cost Sum Description NV S-INV139527[Custon | INTERNATIONAL CV 3T PICKER [4260] Sienna Campbell 210 583 mary | | Serial Number: Business Unit: Start Date: Stop Date: | Rate Total Labor \$3,047.09 Total Parts Total Equip Total Cost | **Tota |
| iquipment: Vork Location: Created by: Kms: Hr: Vork Order Cost Sum Description | INTERNATIONAL CV 3T PICKER [4260] Sienna Campbell 210 583 mary | | Serial Number: Business Unit: Start Date: Stop Date: | 1HTKTSWM9LH6816 Trucks Heavy Rate Total Labor \$3,047.09 Total Parts Total Equip | \$0.0 \$0.0 \$0.0 |

58374

Equipment:

INTERNATIONAL CV 3T PICKER [4260]

Work Location:

Created by:

Sienna Campbell

ms: 210 Hr: 583

Serial Number:

Status:

Stop Date:

Closed

1HTKTSWM9LH681628

Business Unit: Trucks Heavy **Start Date:**

Work Order Cost Summary

| Description | Quantity Labor Type | Rate | Total |
|-------------------|---------------------|-------------|------------|
| | | Total Labor | \$0.00 |
| INV 60477[Custom] | 1.00 Each | \$2,777.25 | \$2,777.25 |
| | | Total Parts | \$2,777.25 |
| | | Total Equip | \$0.00 |
| | | Total Cost | \$2,777.25 |

| Item ID | Description | Completed By | Reported Hours |
|---------|----------------------------------------------|-----------------|----------------|
| | | | |
| 106807 | FIRST CHOISE COLLISION INV 60477 - BODY WORK | Sienna Campbell | 0.00 |
| | | | |

Work Order: Equipment: 59467

INTERNATIONAL CV 3T PICKER [4260]

Work Location:

Current Equipment Location

Created by:

Nathan Sak

ms: Hr: 210 583 Status:

Serial Number:

Business Unit:

Start Date: Stop Date: 1HTKTSWM9LH681628
Trucks Heavy

Closed

10-10-2024 10-10-2024

Work Order Cost Summary

| Description | Quantity Labor Type | Rate | Total |
|-------------|------------------------|--------------------|---------|
| NATHAN SAK | 1.00 RT Shop Tire Tech | \$36.33 | \$36.33 |
| | | Total Labor | \$36.33 |
| | | Total Parts | \$0.00 |
| | <u> </u> | Total Equip | \$0.00 |
| | | Total Cost | \$36.33 |

| Item ID | Description | Completed By | Reported Hours |
|---------|-------------|--------------|----------------|
| 108683 | Wash Truck | Nathan Sak | 1.00 |
| | | | |
| | | | |

Work Order: Equipment:

59408

INTERNATIONAL CV 3T PICKER [4260]

Work Location: Blackfalds Shop
'reated by: Oom Jarussirirat

Kms: 210 Hr: 583 Status:

Serial Number:

Business Unit:

Start Date: Stop Date: Closed

1HTKTSWM9LH681628

Trucks Heavy

| Description | | Quantity | Labor Type | Rate | Tota |
|------------------------------|--------------------------------------------------------------|-----------|-------------------------------|----------------------------|----------|
| LAYTON BERG | | 8.50 RT | Shop Mech Blfds | \$52.07 | \$442.6 |
| | | | | Total Labor | \$442.6 |
| SX26W FOG LIGHT E | BULB [13582913] | 1.00 Each | | \$50.80 | \$50.8 |
| HIPPING COSTS - BL | ACKFALDS [7541] | 1.00 Toti | | \$15.00 | \$15.0 |
| | • • | | | Total Parts | \$65.8 |
| | | | | Total Equip | \$0.0 |
| | | | | Total Cost | \$508.4 |
| | | | | • | |
| tem ID Desc | ription | | Completed By | Reported Hours | |
| | | | | | |
| 08752 LIGHT | TS ISSUE | | Clayton Berg | 1.00 | |
| 08755 CHEC | K FOR COOLANT LEAKS | | Clayton Berg | 0.00 | |
| 07618 5K Se | rvice | | Oom Jarussirirat | 3.50 | |
| K service | | | | | |
| 08756 REAR | JUNCTION BOX HAVE A HOLE (ROCK HIT) | | Oom Jarussirirat | 3.50 | <u> </u> |
| 08753 BROK | EN GREASE NIPPLE ON TIE ROD ENDS | | Oom Jarussirirat | 0.50 | |
| | | | | - | |
| Vork Order: | 62169 | | Status: | Closed 1HTKTSWM9LH6810 | |
| iquipment: Vork Location: | INTERNATIONAL CV 3T PICKER [4260] Current Equipment Location | | Serial Number: Business Unit: | | 028 |
| reated by: | Nathan Sak | | Start Date: | Trucks Heavy 12-19-2024 | |
| (ms: | 210 | | Stop Date: | 12-19-2024 | |
| ir: | 583 | | otop butci | 12 13 2021 | |
| Vork Order Cost Su | ımmary | | | | |
| escription | | Quantity | Labor Type | Rate | Tota |
| IATHAN SAK | | 3.50 RT | Shop Tire Tech | \$36.33 | \$127.1 |
| | = | | | Total Labor | \$127.1 |
| | | | | Total Parts | \$0.0 |
| | | | | Total Equip | \$0.0 |
| | | | | Total Cost | \$127.1 |
| tom TD Do | ulusion. | | Completed By | Reported Hours | |
| tem ID Descr | ription | | Completed By | keportea nours | |

| Completed By | Reported Hours | |
|--------------|----------------|--|
| Nathan Sak | 3.50 | |
| | | |

62195

Equipment:

INTERNATIONAL CV 3T PICKER [4260]

Work Location:

Current Equipment Location

Created by:

Nathan Sak

Status:

Serial Number:

Business Unit: Start Date:

Closed

1HTKTSWM9LH681628

Trucks Heavy 12-20-2024

Kms:

210

Stop Date:

12-20-2024

Hr:

583

Work Order Cost Summary

| escription | Quantity Labor Type | Rate | Total |
|------------------------------------------|------------------------|--------------------|----------|
| NATHAN SAK | 2.00 RT Shop Tire Tech | \$36.33 | \$72.66 |
| | | Total Labor | \$72.66 |
| 22" WINTER WIPER BLADE, GM STYLE [35220] | 2.00 Each | \$13.25 | \$26.50 |
| Glover 277586[Custom] | 1.00 Each | \$406.45 | \$406.45 |
| Glover INV 277533[Custom] | 1.00 Each | \$0.01 | \$0.01 |
| | | Total Parts | \$432.96 |
| | | Total Equip | \$0.00 |
| | | Total Cost | \$505.62 |
| | | | |

| Item ID | Description | Completed By | Reported Hours |
|---------|----------------------|--------------|----------------|
| 113920 | Take Truck to Glover | Nathan Sak | 2.00 |

Work Order:

62437

Status:

Closed

Equipment:

INTERNATIONAL CV 3T PICKER [4260]

Serial Number:

1HTKTSWM9LH681628

Work Location: Created by:

Current Equipment Location

Business Unit: Start Date:

Trucks Heavy

ms:

Randy Wearmouth

Stop Date:

1-7-2025 1-7-2025

210 583 Hr:

| Description | Quantity Labor Type | Rate | Tota! |
|--------------------------------------------------------------|-------------------------|--------------------|----------|
| MATTHEW GERVAIS | 2.00 RT Shop Mech Field | \$59.34 | \$118.68 |
| | | Total Labor | \$118.68 |
| CORE ITEM - BATTERY GROUP 31 12V 730CCA (BD31S71EXCH) [7T31] | 2.00 Each | Each \$150.76 \$ | \$301.52 |
| | | Total Parts | \$301.52 |
| | | Total Equip | \$0.00 |
| | | Total Cost | \$420.20 |

| Item ID Desc | iption | Completed By | Reported Hours |
|----------------|-----------------------------------|----------------|-------------------|
| 114281 4260 | REPAIR PTO/REPLACE BATTERIES | Carla Merklin | 2.00 |
| Work Order: | 63186 | Status: | Closed |
| Equipment: | INTERNATIONAL CV 3T PICKER [4260] | Serial Number: | 1HTKTSWM9LH681628 |
| Work Location: | Blackfalds Shop | Business Unit: | Trucks Heavy |
| reated by: | Oom Jarussirirat | Start Date: | 1-31-2025 |
| Kms: | 210 | Stop Date: | 2-4-2025 |
| Hr: | 583 | | |

| CLAYTON BERG | \$52.07 \$52.07 Total Labor \$164.57 \$51.17 \$80.58 \$25.33 \$35.59 \$19.99 Total Parts Total Equip | \$26.04 \$338.46 \$364.49 \$164.53 \$51.17 \$80.58 \$25.33 \$35.59 \$19.99 \$377.24 |
|------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|---------------------------------------------------------------------------------------------------------------------------------------------------------|----------------------------------------------------------------------------------------------------------------|
| 1.00 Each 1.00 | \$164.57 \$51.17 \$80.58 \$25.33 \$35.59 \$19.99 Total Parts | \$364.49 \$164.53 \$51.17 \$80.58 \$25.33 \$35.59 \$19.99 |
| FILTER CAB AIR [6040856C1] 1.00 Each FILTER FUEL [2515892C91] 1.00 Each FILTER LUBE [6040648C1 {6042658C1}] 1.00 Each FILTER ORING (FILTER 2515892C91) [2515893C91] 1.00 Each PSX26W FOG LIGHT BULB [13582913] 1.00 Each Item ID Description Completed By 108754 DS VALVE BANK LEAKING Oom Jarussirirat 115585 5K Service | \$164.57 \$51.17 \$80.58 \$25.33 \$35.59 \$19.99 Total Parts | \$164.53 \$51.17 \$80.58 \$25.33 \$35.59 \$19.99 |
| FILTER CAB AIR [6040856C1] 1.00 Each FILTER FUEL [2515892C91] 1.00 Each FILTER LUBE [6040648C1 {6042658C1}] 1.00 Each FILTER ORING (FILTER 2515892C91) [2515893C91] 1.00 Each PSX26W FOG LIGHT BULB [13582913] 1.00 Each Item ID Description Completed By 108754 DS VALVE BANK LEAKING Oom Jarussirirat 115585 5K Service | \$51.17 \$80.58 \$25.33 \$35.59 \$19.99 Total Parts | \$51.17 \$80.58 \$25.33 \$35.59 \$19.99 |
| FILTER FUEL [2515892C91] 1.00 Each FILTER LUBE [6040648C1 {6042658C1}] 1.00 Each FILTER ORING (FILTER 2515892C91) [2515893C91] 1.00 Each PSX26W FOG LIGHT BULB [13582913] 1.00 Each Item ID Description Completed By 108754 DS VALVE BANK LEAKING Oom Jarussirirat 115585 5K Service Oom Jarussirirat | \$80.58 \$25.33 \$35.59 \$19.99 Total Parts Total Equip | \$80.58 \$25.33 \$35.59 \$19.99 \$377.24 |
| ### FILTER LUBE [6040648C1 {6042658C1}] | \$25.33 \$35.59 \$19.99 Total Parts Total Equip | \$25.33 \$35.59 \$19.99 \$377.24 |
| FILTER ORING (FILTER 2515892C91) [2515893C91] 1.00 Each PSX26W FOG LIGHT BULB [13582913] 1.00 Each Item ID Description Completed By 108754 DS VALVE BANK LEAKING Oom Jarussirirat 115585 5K Service Oom Jarussirirat SK service | \$35.59 \$19.99 Total Parts Total Equip | \$35.59 \$19.99 \$377.24 |
| PSX26W FOG LIGHT BULB [13582913] 1.00 Each Item ID Description Completed By 108754 DS VALVE BANK LEAKING Oom Jarussirirat 115585 5K Service Oom Jarussirirat SK service | \$19.99 Total Parts Total Equip | \$19.99 \$377.24 |
| Item ID Description Completed By 108754 DS VALVE BANK LEAKING Oom Jarussirirat 115585 5K Service Oom Jarussirirat 5K service Oom Jarussirirat | Total Parts Total Equip | \$377.24 |
| 108754 DS VALVE BANK LEAKING Oom Jarussirirat 115585 5K Service Oom Jarussirirat 5K service | Total Equip | \$377.24 |
| 108754 DS VALVE BANK LEAKING Oom Jarussirirat 115585 5K Service Oom Jarussirirat 5K service | Total Equip | |
| 108754 DS VALVE BANK LEAKING Oom Jarussirirat 115585 5K Service Oom Jarussirirat 5K service | | 4 |
| 108754 DS VALVE BANK LEAKING Oom Jarussirirat 115585 5K Service Oom Jarussirirat 5K service | | \$741.73 |
| 108754 DS VALVE BANK LEAKING Oom Jarussirirat 115585 5K Service Oom Jarussirirat 5K service | | |
| 115585 5K Service Oom Jarussirirat 5K service | Reported Hours | |
| 5K service | 0.50 | |
| | 0.00 | |
| 113892 5K Service Oom Janussirirat | | |
| | 0.00 | - |
| 5K service | 0.00 | |
| | | |
| 110325 5K Service Damian Myers | 4.00 | |
| 5K service | | |
| 115654 LIGHTS ISSUE Oom Jarussirirat | 2.00 | |
| 115655 WINDSHIELD WASHER NOT SPREY PROPERLY Damian Myers | 0.50 | |
| 113033 WINDSHIELD WASHER NOT SPRET PROFEREI | 0.50 | |
| 115651 NEED A NEW WINDSHIELD;DW 2040 Damian Myers | 0.00 | |
| | | |
| Work Order: 63374 Status: | Closed | |
| Equipment: INTERNATIONAL CV 3T PICKER [4260] Serial Number: | 1HTKTSWM9LH681 | 628 |
| Work Location: Business Unit: | Trucks Heavy | |
| Created by: Kevin Gordan Start Date: | | |
| Kms: 210 Stop Date: | 1 | |
| Hr: 583 | | |
| Work Order Cost Summary | | ĺ |
| Description Quantity Labor Type | | |
| | Rate | Total |
| FILTER LUBE [6040648C1 {6042658C1}] 1.00 Each | Rate Total Labor \$25.33 | Total \$0.00 \$25.33 |

| Total Parts | \$25.33 |
|--------------------|---------|
| Total Equip | \$0.00 |
| Total Cost | ¢25 33 |

| Item ID | Description | Completed By | Reported Hours |
|---------|---------------------------|--------------|----------------|
| | | | |
| 115991 | 4260-02/04/25-DIRECT BILL | Kevin Gordan | 0.00 |

63377

Status:

Closed

Equipment:

INTERNATIONAL CV 3T PICKER [4260]

Serial Number:

1HTKTSWM9LH681628

Work Location:

Rocky Mountain House Shop

Business Unit:

Trucks Heavy

Created by:

Blair MacAulay

Start Date:

2-4-2025

Kms:

Hr:

210 583 Stop Date:

2-4-2025

| Work Order Cost Summary | | | |
|-------------------------|-----------------------|-------------|---------|
| Description | Quantity Labor Type | Rate | Total |
| KEVIN HUMMEL | 0.50 RT Shop Mech Rky | \$49.05 | \$24.53 |
| | | Total Labor | \$24.53 |
| | | Total Parts | \$0.00 |
| | | Total Equip | \$0.00 |
| L | | Total Cost | \$24.53 |

| Item ID | Description | Completed By | Reported Hours |
|---------|---------------------------|----------------|----------------|
| 115994 | REPLACE ENGINE OIL FILTER | Blair MacAulay | 0.50 |

Work Order:

63740

Status:

Closed

Equipment:

INTERNATIONAL CV 3T PICKER [4260]

Serial Number:

1HTKTSWM9LH681628

Work Location:

Current Equipment Location

Business Unit:

Trucks Heavy

Created by:

Carla Merklin

Start Date:

2-12-2025

Kms:

Hr:

210 583

Stop Date:

2-12-2025

| Description | Quantity Labor Type | Rate | Total |
|-------------|------------------------|--------------------|---------|
| NATHAN SAK | 2.00 RT Shop Tire Tech | \$36.33 | \$72.66 |
| | | Total Labor | \$72.66 |
| | | Total Parts | \$0.00 |
| | | Total Equip | \$0.00 |
| | | Total Cost | \$72.66 |

| tem ID | Description | Completed By | Reported Hours | |
|--------|-----------------------|-------------------|----------------|-------------|
| 116610 | 4260 - PTO/COMPRESSOR | Brittinni Lockard | 2.00 | |

63791

Equipment:

Work Location:

INTERNATIONAL CV 3T PICKER [4260]

Current Equipment Location

Created by:

Nathan Sak

Kms: Hr:

210 583 Status:

Serial Number:

Closed

1HTKTSWM9LH681628

Trucks Heavy

Business Unit:

Start Date:

2-13-2025

Stop Date:

2-13-2025

Work Order Cost Summary

| Description | Quantity Labor Type | Rate | Total |
|--------------------|------------------------|--------------------|----------|
| NATHAN SAK | 1.50 RT Shop Tire Tech | \$36.33 | \$54.50 |
| | | Total Labor | \$54.50 |
| SEAL KIT [4974042] | 1.00 Each | \$100.24 | \$100.24 |
| | | Total Parts | \$100.24 |
| | | Total Equip | \$0.00 |
| | | Total Cost | \$154.74 |

| Item ID | Description | Completed By | Reported Hours | |
|---------|----------------------|--------------|----------------|--|
| | | | | |
| 116688 | Take Truck To Glover | Nathan Sak | 1.50 | |

Work Order:

63811

Equipment:

INTERNATIONAL CV 3T PICKER [4260]

Work Location:

Current Equipment Location

Created by:

Kms: 210

Hr:

583

Nathan Sak

Status:

Serial Number:

1HTKTSWM9LH681628

Closed

Business Unit:

Stop Date:

Start Date:

Trucks Heavy 2-14-2025 2-14-2025

Work Order Cost Summary

| Quantity Labor Type Rate | Total |
|--------------------------------|-----------------------------------------------------------------------|
| 1.25 RT Shop Tire Tech \$36.33 | \$45.41 |
| Total Labor | \$45.41 |
| Total Parts | \$0.00 |
| Total Equip | \$0.00 |
| Total Cost | \$45.41 |
| | 1.25 RT Shop Tire Tech \$36.33 Total Labor Total Parts Total Equip |

| Item ID | Description | Completed By | Reported Hours | |
|---------|--------------------------|--------------|----------------|--|
| | | | | |
| 116750 | Drop truck off at Glover | Nathan Sak | 1.25 | |

Work Order:

64003

Equipment:

INTERNATIONAL CV 3T PICKER [4260]

Work Location:

Current Equipment Location

Created by: Nathan Sak Status:

Serial Number:

Start Date:

Closed

1HTKTSWM9LH681528

Business Unit:

Trucks Heavy 2-20-2025

Stop Date:

2-20-2025

Kms: Hr:

210 583

Work Order Cost Summary

| escription | Quantity Labor Type | Rate | Total |
|---------------------------|------------------------|-------------|---------|
| NATHAN SAK | 2.00 RT Shop Tire Tech | \$36.33 | \$72.66 |
| | | Total Labor | \$72.66 |
| GLOVER INV 278254[Custom] | 1.00 Each | \$0.01 | \$0.01 |
| | | Total Parts | \$0.01 |
| | | Total Equip | \$0.00 |
| | | Total Cost | \$72.67 |

| Item ID | Description | Completed By | Reported Hours |
|---------|--------------------------|--------------|----------------|
| 117085 | Pickup Truck From Glover | Nathan Sak | 2.00 |

Work Order:

65390

Status:

Closed

Equipment:

INTERNATIONAL CV 3T PICKER [4260]

Serial Number:

1HTKTSWM9LH681628

Work Location:

Current Equipment Location

Business Unit:

Trucks Heavy

Created by:

Nathan Sak

Start Date:

3-27-2025

Kms:

Hr:

210 583 **Stop Date:**

3-27-2025

_york Order Cost Summary

| Description | Quantity Labor Type | Rate | Total |
|-------------|------------------------|--------------------|---------|
| NATHAN SAK | 1.50 RT Shop Tire Tech | \$36.33 | \$54.50 |
| | | Total Labor | \$54.50 |
| | | Total Parts | \$0.00 |
| | | Total Equip | \$0.00 |
| | | Total Cost | \$54.50 |

| Item ID | Description | Completed By | Reported Hours | _ |
|---------|------------------------|--------------|----------------|---|
| 119673 | Fix Loose Toolbox Door | Nathan Sak | 1.50 | _ |

Work Order:

66229

Status:

Closed

Equipment:

INTERNATIONAL CV 3T PICKER [4260]

Serial Number:

1HTKTSWM9LH681628

Work Location:

Blackfalds Shop

Business Unit: Start Date:

Trucks Heavy

Created by: Kms:

Oom Jarussirirat

4-23-2025

Hr:

210 583 **Stop Date:**

4-28-2025

| Description | Quantity Labor Type Rate | Total |
|--------------|----------------------------------|----------|
| DAMIAN MYERS | 16.50 RT Shop Mech Blfds \$52.07 | \$859.16 |
| | Total Labor | \$859.16 |

| FILTER CAB A | NR [6040856C1] | 1.00 Each | \$51.43 | \$51.43 |
|----------------------------------------------|--------------------------------------------|------------------|----------------|------------|
| FILTER FUEL | [2515892C91] | 1.00 Each | \$94.25 | \$94.25 |
| FILTER LUBE | {NAV: 6040648C1. FLG: LF16511} [6042658C1] | 1.00 Each | \$27.65 | \$27.65 |
| FILTER ORIN | G (FILTER 2515892C91) [2515893C91] | 1.00 Each | \$35.59 | \$35.59 |
| LIGHT WHITE LICENSE PLATE RESEALABLE [60001] | | 1.00 Each | \$5.06 | \$5.06 |
| | | | Total Parts | \$213.98 |
| | | | Total Equip | \$0.00 |
| | | | Total Cost | \$1,073.13 |
| | | | | |
| Item ID | Description | Completed By | Reported Hours | |
| 120743 5K service | 5K Service | Oom Jarussirirat | 0.00 | |
| 118260 5K service | 5K Service | Damian Myers | 5.00 | |
| 121379 | CHECK FOR COOLANT LEAKS (PRESSURE TEST) | Damian Myers | 1.00 | |
| 121378 | LIGHTS ISSUE | Damian Myers | 1.00 | : 3::: |
| 121380 | NEED TO CLEAN ALL BATTS | Damian Myers | 1.50 | |
| 121377 | HYD LEAKS ISSUE | Damian Myers | 6.50 | |
| 121177 | LOOSE METAL BAND ON HYD TANK | Damian Myers | 1.50 | |

Work Order: **Equipment:**

66841

INTERNATIONAL CV 3T PICKER [4260]

Current Equipment Location

Work Location: Created by:

Jason Hollingsworth

Kms: 210

Hr: 583 Status:

Serial Number:

1HTKTSWM9LH681628 Trucks Heavy

Closed

Business Unit: Start Date:

5-5-2025 Stop Date: 5-5-2025

| Description | Quantity Labor Type | Rate | Total |
|---------------------|-------------------------|-------------|----------|
| JASON HOLLINGSWORTH | 3.00 RT Shop Mech Field | \$59.34 | \$178.02 |
| | | Total Labor | \$178.02 |
| | | Total Parts | \$0.00 |
| | | Total Equip | \$0.00 |
| | | Total Cost | \$178.02 |

| Item ID | Description | Completed By | Reported Hours |
|---------|-----------------|---------------------|----------------|
| | | | |
| 122247 | 4260 air to air | Jason Hollingsworth | 3.00 |

68058

Status:

Closed

Equipment:

INTERNATIONAL CV 3T PICKER [4260]

Serial Number: Business Unit:

1HTKTSWM9LH681628

Work Location:

Danielle McArthur

Start Date:

Trucks Heavy

Created by: Kms:

210

Stop Date:

583 Hr:

Work Order Cost Summary

| Description | Quantity Labor Type | Rate | Total |
|---------------------------------------|---------------------|-------------|-----------|
| | | Total Labor | \$0.00 |
| 18" STEEL UNDERBODY TOOLBOX [1702300] | 1.00 Each | \$478.93 | \$478.93 |
| 24X36 Mudflap[Custom] | 4.00 Each | \$16.99 | \$67.96 |
| 24X36 MUDFLAP[Custom] | 4.00 Each | (\$16.99) | (\$67.96) |
| GLOVER INV 279087[Custom] | 1.00 Each | \$0.01 | \$0.01 |
| | | Total Parts | \$478.94 |
| | | Total Equip | \$0.00 |
| | | Total Cost | \$478.94 |

| Item ID | Description | Completed By | Reported Hours |
|---------|-------------------------------------|-------------------|----------------|
| 124396 | 4260 - GLOVER INV 279087 - 5-7-2025 | Danielle McArthur | 0.00 |

Work Order:

70827

Status:

Closed

Equipment:

INTERNATIONAL CV 3T PICKER [4260]

Serial Number:

1HTKTSWM9LH681628

Work Location:

Current Equipment Location

Business Unit:

Trucks Heavy

Created by:

Kyle Draney

Start Date:

7-28-2025

Kms:

Stop Date:

7-28-2025

Hr:

210

583

| Description | Quantity Labor Type | Rate | Total |
|-------------------------------------------------------------|--------------------------|-------------|------------|
| KYLE DRANEY | 24.00 RT Shop Weld Field | \$55.71 | \$1,337.04 |
| | | Total Labor | \$1,337.04 |
| LIGHT RED MARKER CLEARANCE 2.5" ROUND LED REFLCTIVE [G1002] | 2.00 Each | \$9.31 | \$18.63 |
| | | Total Parts | \$18.63 |
| | | Total Equip | \$0.00 |
| | | Total Cost | \$1,355.67 |

| Item ID | Description | Completed By | Reported Hours |
|---------|-------------|--------------|----------------|

128857 prep for paint and sale Brittinni Lockard 24.00